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The champion of Ajianavada whom the Buddhist called

1. Akriyavadi

2. Carvakavadin
3. Viksepavadin
4. Kriyavadin
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Buddha called himself Brahmabhiita which means

1. Brahma
2. Brahman
3. Arhat
4. Tathagata
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Identify the person who was given new name ‘Chandrajoti” after his ordination by venerable Puranachara

1. Kripasarana Mahathera
2. Anagarika Dharmapala
3. Candramani Mahathera
4. Bhikshu Jagadish Kashyapa
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(3) 3
(4) 4
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3[Option ID=6611]
4[Option ID=6612]

Sl. No.4
QBID:160004

According to the Majjhima Nikaya, the period of Enlightenment was spread over for

1. 3 hours
2. 6 hours
3.9 hours
4. 12 hours
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Identify the person who belongs to the sect of Acelakas

1. Ajiita Kesakambalin
2. Sanjaya Velatthiputta
3. Purana Kassapa

4. Makkhali Gosala
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A Korean monk named Dhyanabhadra visited Kanchipura (India) in

. 14t century
. 13t Century
. 7 Century

. 15t Century
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(4) 4
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Another name of Bhaddakaccana was -

1. Mahamaya
2. Mahaprajapati Gautami
3. Yasodhara
4. Amrapali
1
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(3) 3
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Identify the place where King Bimbisara met Buddha after his first sermon —

1. Latthivana
2. Griddhakita hill
3. Vaibhara hill
4. Indrasala cave
11
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(3) 3
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‘Badagaon’ village is identified with -

. Sravasti

. Kushinagar

. Nalanda

. Veluvana Vihara
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Present location of Vikramasila University is -

1. Bhagalpur, Bihar
2. Badgaon, Bihar
3. Biharsharif, Bihar
4. Dhaka, Bangladesh
1) 1
) 2
(3) 3
4) 4
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Kammatthanas are directly related to -

1. Samadhi
2.Sila
3. Alaya-Vijiana
4. Tilakkhana
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Select the wrong statement in the context of Sila —

1. There are 227 Silas
2. There are 311 Silas
3. There are 89 Silas
4. There are 5 Silas
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Different philosophical views are discussed in this Jaina Agama text -

1. Jnatadharmakathanga
2. Vipakasiutra
3. Dasavaikalikasitra
4. Sutrakrtanga
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(3) 3
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This is Prakrit Agama text -

1. Mahapurana
2. Acarangasiitra
3. Samaraiccakaha
4. Sammaisuttam
1) 1
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(3) 3
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Acarya Umaswami is a writer of

1. Tattvarthasiitra
2. Yogasutra
3. Vipakasutra
4. Adipurana
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Palitana Jaina Tirtha is also known as -

1. Sammedasikhara
2. Strunjayatirtha
3. Kesariyaji

4. Girinar Tirtha
11
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This temple is big one among the other Jaina temples of Devagarh -

. Neminatha Mandira
. Rsabhadeva Mandira
. Mahavira Mandira

. Santinatha Mandira
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Medieval figures of Jaina painting are found in —

1. Tattvarthasutra
2. Vipakasiuthra
3. Uttaradhyayanasiitra
4. Kalpasiitra
1) 1
(2 2
(3) 3
(4) 4
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Earliest Jaina Saraswati image is found from —

1. Devagarh
2. Mathura
3. Sirohi
4. Ladnun
11
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The fifth part of Utsarpini kala is —

1. Dusama - Dusama
2. Susama - Dusama
3. Dusama
4. Suasma
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“Anarthadandaviramana™ is a part of —

1. Anuvrata
2. Siksavrata
3. Gupavrata
4. Mahavrata
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The place of Salvation of “Rsabhadeva” is —
1. Satrunjaya Tirtha
2. Astapada
3. Pavapul
4. Sammeda Sikhara tirtha
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(3) 3
(4) 4
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According to Jainism, “The Liberated Soul” is called as —

1. Arihanta
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The meaning of the word “Syat” in Syadvada theory is —

1. Perceptual vision
2. Skepticism

3. Monotheism

. Doubtful
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The life of renunciation and dedication to the service of the poor and the oppressed had such a great appeal for
Gandhi by —— that he refashioned his life accordingly.

1. Leo Tolstoy

2. John Ruskin

3. Henry David Thoreau
4. Raichandbhai
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4) 4




TieamT 3R 9499 v mifua satwa) i a7 § "HOd S Siad TE 39T SIS TE9E A 6
g SHT T FATET AT S R FTe o -

1. r-\IF”FEI\I Evl o ?.vl’v'l
2. ST =
3. &4 2fae o

4. T 4TS
11
() 2
(3) 3
(@) 4

1[Option ID=6697]
2[Option ID=6698]
3[Option ID=6699]
4[Option ID=6700]

Sl. No.26
QBID:160026

The basic lesson of satyagrahi was learned by Gandhi from

1. His mother
2. His wife

3. His father
4. His friends
11
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The decision to start Satyagraha in South Africa was sudden. For the Indian word for his non-violent resistance a
small prize was announced in The Indian Opinion was won by

1. Madanlal Gandhi
2. Maganlal Gandhi
3. Deenanath
4. Raj Bahadur
11
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The Indian contribution to the war effort fook the form of ambulance work. Gandhi organised a corps of

1. 10,000 Volunteers
. 10,001 volunteers
. 10,100 volunteers
. 11,000 volunteers
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(3) 3
4) 4
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“The earth has enough for our need, not for our greed”, was said by Gandhi regarding the issues related to

1. Agriculture
2. Environment
3. Village Upliftment
4. Trade
1) 1
(2 2
(3) 3
(4) 4
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‘Swaraj’ according to Gandhi means

. Rule of majority

. Freedom from all restraints

. Freedom from meanest of the countrymen
. Freedom from foreign yoke
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‘Bread labour’ in simple terms according to Gandhi is

Earnings of a person by selling bread

. Labour working in the Agriculture sector

. Everyone must labour with his body for a few hours daily
. The price of bread purchased from the market
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In a speech at a meeting of Women in Rome in 1931, Gandhi proudly paid the women of India a compliment
that :

1. It is good to perceive or treat women as inferior to men
2. In non-violent war women’s role is more effective as it is based on self-suffering

3. She is to stay at home and take care of her household chores
4. She is not having a right and duty to participate in the development of society through political activity

(1) 1
(2) 2
(3) 3
(4) 4
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Ostracism is a weapon of the community against its members who refuse to join with the oponent mentioned in
the general programme of

1. Non-Cooperation
2. Civil Disobedience
3. Vykom Satyagraha
4. Quit India Movement
)1
(2 2
(3) 3
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In 1933 Gandhi made an announcement of fast for self-purification was for

. 5 days

. 11 days
. 15 days
.21 days
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Gandhi was referred to as ‘One Man Peace Army’ during the partition by

1. Lord Wellington
2. Lord Wavell
3. Lord Mountbatten
4. Ramsay Macdonal
1) 1
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(3) 3
4) 4
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“Varna has nothing to do with caste. Down with the monster of caste that masquerades in the name of Varna™
said by

1. Ambedkar
2. Gandhi
3. Vinoba Bhave
4. Jayprakash Narayan
1) 1
(2) 2
(3) 3
4) 4
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'Courage' according to Nelson Mandela is

1. Triumph over love

. Triumph over fear

. Triumph over selfishness
. Triumph over poverty
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(4) 4
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Prominent to the development of the field of Conflict Resolution during inter-war years were the early works of :

1. Burton, Richardson and Galtung
. Galtung, Richardson and Wright
. Sorokin, Richardson and Wright
4. Azad, Burton, Sorokin
1) 1
2) 2
(3) 3
(4) 4
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Best method of Conflict Resolution according to Gandhi is

1. Suppression of conflict
2. Deterence
3. Mutual Dialogue and Mediation
4. Diplomacy
1
(2) 2
(3) 3
(4) 4
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Diagnosis — Prognosis — Therapy Triangle based on the common idea of a system (of actors, of cells) of well-
states and ill-states propounded by

1. Quincy Wright

. Johan Galtung

. John Burton

. John Bondurant
11
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Read the following statements in the context of Second Council

A. The leading monks at the time of Second Council were eight (8).

B. Among the leading monks of Second Council, first six were disciples of Ananda and remaining two of
Upali.

C. Aanada died before the convening of the Second Council.

D. Sabbakami was then the Sanghathera.

E. According to Sanskrit tradition, Sambhiita Sanvasi was selected by Ananda as the monk to lead the Samgha.

Choose the correct answer from the options given below :

1. (A). (B). (C) (D) Only
2. (B). (C), (D). (E) Only
3.(A). (C). (D). (E) Only
4.(A), (B). (D). (E) Only

1) 1
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(3) 3

(4) 4
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Read the sentences in the context of Kasyapiya school

A. The Kasyapiya school known by Sthaviriya, Saddharmavarka sale and Suvarsaka.
B. It issued out of the Sarvastivadins.

C. This is the reason, it is being called Sthaviriya.

D. Kasyapiya literature is similar to Sautranlika.

E. Kasyapiya identifies with the Haimavata

Choose the correct answer from the options given below :

1. (A). (B). (C). (D) Only
2. (B), (C), (D). (E) Only
3.(A). (B), (D). (E) Only
4.(A), (B), (C), (E) Only
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Sl. No.43
QBID:160043

King Suddhodana’s second wife Pajapati gave birth to two children. Identify their names.

1. Siddharth

2. Devadatta

3. Saundarinanda
4. Nanda

5. Aniruddha

Choose the correct answer from the options hiven below :

1. (C), (D) Only
2. (B), (C) Only
3.(B). (D) Only
4.(A), (E) Only
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Sl. No.44
QBID:160044

Identify among the following which is associated with Buddhism :

A. Rejection of the authority of the Veda

B. Denial of God

C. Belief in the categories of Jiva and Ajiva
D. The concept of Nirvana

E. Theory of Prakriti and Purusa.

Choose the correct answer from the options given below :

L. (A). (B). (C) Only
2.(B), (C), (D) Only
3.(A} (B). (D) Only
4.(A). (B), (E) Only
1) 1
2 2
3) 3

4) 4
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Sl. No.45
QBID:160045

Examine the following events related to the Buddha —

1. ASoka had erected a pillar at the birth place of Buddha
2. Mucilinda lake is situated at the Birthplace of the Buddha
3. Anattalakkana Sutta was delivered by Buddha at Gayasisa mountain.
4. Asoka had erected a pillar at Isipattana migadava
Veluvana was donated to the Buddha by king Bimbisara.

Choose the correct answer from the options given below :

1. (A). (D), (E) Only
2. (A), (B), (D] {E)Oniy
3. (C). (D). (E) Only
4.(B). (C). (D). (E) Only
1) 1
) 2
3) 3

4) 4
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Sl. No.46
QBID:160046

Examine the following facts related to Nalanda —

A. Buddha forecast that Nalanda will be the great centre of education.
B. Buddha stayed at Nalanda in his Parinibbana journey.

C. Pavarika mango garden was at Nalanda.

D. Santaraksita was the great master of Nalanda Mahavihara.

E. Faheian was the first Chinese student of Nalanda Mahavihara.

Choose the correct answer from the options given below :

1. (A), (B), (D) Only

2. (A), (B). (D). (E) Only
3. (B). (C), (D) Only

4. (B). (C), (D), (E) Only
1) 1

) 2

3) 3

4) 4
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Sl. No.47
QBID:160047

Choose the appropriate answer in the context of Abhidhamma Pitaka -

1. Place of Kathavatthu is controversial in this Pitaka.

2. Teachings in it are straight like a thread.

3. Took final shape during the third Buddhist Council.

4. To spread the teachings of the Buddha to a common people.
5. To spread the higher philosophical concepts of the Buddha.

Choose the correct answer from the options given below :

1. (D), (B), (E) Only
2. (A), (B), (D) Only
3.(B] (C), (E) Only
4. (A), (C), (E) Only
1) 1
() 2
3) 3

4) 4
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Sl. No.48
QBID:160048

Read the following statements —

(A) Accordng to Jainism, God imparts the result of actions.

(B) Jainism believes that soil, water, fire, air and plants are living beings

(C) Jainism is dependant on any one ancient text

(D) According to Jainism, religious activities of householders and monks are same.
(E) Jainism prescribes the ‘Jatanacara’ (vigilance action) for environmental protection.
Choose the correct answer from the options given below :

1. (A) and (C) Only
. (D) and (B) Only
.(B) and (E) Only
.(C), (E) and (D) Only

1) 1
(2) 2
(3) 3
4) 4
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Sl. No.49
QBID:160049

Read the following statements —

(A) Working field of Acarya Haribhadrastiri was South India.
(B) Udaigiri and Khandagiri caves are earliest Jaina caves.

(C) Jainism has no relationship with science.

(D) Jinanathapur Jaina Temple is situated near Shravanabelagola.
(E) Jaina temples of Mount Abu are built in 12th — 13th century.
Choose the correct answer from the options hiven below :

1. (B). (D) and (E) only
.(A), (D) and (C) only
.(C), (B) and (A) only
. (D), (A) and (B) only
1) 1
) 2
(3) 3
4) 4
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Sl. No.50
QBID:160050




Read the following statements —

(A) This line — “Carittam Khalu Dhammo’ is found in the Pravacanasara.
(B) Chamundaraya has built Jaina Temples of Mount Abu

(C) Salvation — Place of Lord Par$vanatha is Sammeda Shikhara.

(D) Bhagavati Aradhana is composed by Acarya Kundakuna

(E) The earliest Jain stupa has found at Mathura

Choose the correct answer from the options given below :

1. (C), (B) and (D) Only
2. (D). (E) and (C) Only
3. (A), (C) and (E) Only
4. (B). (D) and (A) Only
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3) 3
(4) 4
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Sl. No.51
QBID:160051

Read the following statements and

(A) Mathuri Agama Vacana (council) was held in fourth century C.E.
(B) Writer of the ‘Astapahuda’ text is Kundakunda

(C) Non-possession vow is included in 14 Gunasthanas.

(D) The Nirvana-date of Lord Mahavira is 527 years B.C.

(E) Jainism prescribes mainly eight karmas.

Choose the correct answer from the options given below :

1. (B). (D) and (E) Only
.(A), (B) and (C) Only
.(A). (C) and (D) Only
.(A). (C) and (E) Only
) 1
) 2
(3) 3
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Sl. No.52
QBID:160052

Read the following statements —

(A) Jaina images are found in crosslegged and standing posture.

(B) Acarya Virasena is a famous commentator of Jainism.

(C) Acarya Umaswami was a Prakrit poet.

(D) Jaina Paintings are found in both Palmleaf and paper manuscripts.
(E) Acarya Yashovijaya was a Jain scholar of 12th century.

Choose the most appropriate answer from the options given below :

1. (B). (C) and (E) Only
2. (A), (B) and (C) Only
3. (A), (D) and (E) Only
A). (B) and (D) Only
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Sl. No.53
QBID:160053

These are included in elements according to Jainism : -
(A) Dharma

(B) Nirjara

(C) Bandha

(D) Moksa

(E) Adharma

Choose the correct answer from the options given below :

1. (B), (C) and (D) Only
2. (A), (C) and (E) Only
3 (A), (B) and (E) Only
4.(A). (D) and (E) Only
1) 1
() 2
3) 3
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Sl. No.54
QBID:160054

Identify the meaning of “Anekanta™ according to Jainism :-
(A) Abstinence from all Evils.

(B) Fulfillment of all Goods.

(C) Presence of all Multiple aspects.

(D) Purification of mind.

(E) To hold multiple views of the substance.

Choose the most appropriate answer from the options given below :

1. (A). (B) and (C) Only
2.(C), (D) and (E) Only
3. (B) and (D) Only

4. (C) and (E) Only

1) 1

) 2

3) 3

4) 4
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Sl. No.55
QBID:160055

These statements are correct according to Jainism :

(A) The Jain Agam were put to writing during the first recitation

(B) The meaning of ‘Adharma’ substance is — Assisting to stay.

(C) The meaning of Samvera fundamentals is — To stop the incoming Karmas.
(D) The composition of Umaswami is — Pravacanasara.

(E) Violence destroys and kills.

Choose the most appropriate answer from the options given below :

1. (B). (C) and (E) Only
.(A), (C) and (D) Only
.(C). (D) and (E) Only
.(B), (C) and (D) Only
1) 1
2 2
(3) 3
4) a4
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Sl. No.56
QBID:160056

Our scared constitution makes relentless efforts for social justice to

(A) Establish a co-ordination between individual's well-being

(B) Establish a co-ordination between individual's social well-being.

(C) Make provisions for free of compulsory education for all children upto the age of 14 years.
(D) Establish institution for women and not to reserve seats for them.

(E) Establish a coordination between political groups.

Choose the correct answer from the options given below :

.(B) and (C) Only
,(C) and (E) Only
.(C), (D) and (E) Only
4.(A), (B) and (D) Only
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Sl. No.57
QBID:160057




The play and stories based on adherence to truth and practice of honesty that put his early childhood as vivid in
his memory.

(A) Hariscandra

(B) Shravana

(C) Dhruv

(D) Prahlada

(E) Ramayana

Choose the correct answer from the options given below :

.(A), (B) and (C) Only
.(A). (C) and (D) Only
.(B), (C) and (E) Only
.(C), (D) and (E) Only

(1) 1
() 2
(3) 3
4) 4
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Sl. No.58
QBID:160058

Following is not a part of constructive programme of Ashram.
(A) Cover for cowardice

(B) No cover for cowardice

(C) Extremely active force

(D) Having room for weaknesses

Choose the correct answer from the options given below :

1. (A) and (B) Only
2.(B) and (C) Only
3.(C) and (D) Only
4. (A) and (D) Only
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2 2

(3) 3
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Gandhi learned from Ruskin’s Book ‘Unto This Last’

A. The diginity of manual labour

B. All do not have the same right of earning their livelihood

C. Welfare for all

D. The value of Lawyer’s work is not the same as that of the ‘barber’s’

Choose the most appropriate answer from the options given below :

.(A) and (B) Only
.(A) and (C) Only
.(C) and (D) Only
.(B) and (D) Only
1) 1
2) 2
(3) 3
4) 4
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Sl. No.60
QBID:160060

Gandhi’s aim of Theory of Non-Violence is

(A) Basic education

(B) Convert the opponent

(C) Khadi Promotion

(D) To pursuade him to your point of view

Choose the correct answer from the options given below :

1. (A). (C) Only
2.(B). (D) Only
3.(C), (D) Only
4.(A), (B) Only

1)1
(2) 2
(3) 3
(4) 4
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Main characteristics of Cottage Industries are

(A) They are centralised and not scattered all over the country.

(B) Small amount of capital is needed for the business.

(C) The raw material is usually available at hand

(D) The largest section of cottage industries do not thrive on the local market.
Choose the most appropriate answer from the options given below :

A) and (B) Only
B) and (C) Only
C) and (D) Only
B) and (D) Only

It
2
3.

p— e p—

4,
11




) 2
3) 3
(4) 4

i T ) PR S
(A) & FEiFa Bt B 7 fF 9 3 A el At F

(B) =I5 ¥ o0 o il 77 Ao A AaAvTFHar Bl 2

(C) HWFIA: F=I1 qTel THT T grar 2l

(D) FER FEM F SAE 9T T g § gfea-Tgiha 18w gl
= fZu T faerea € ¥ T9H U ST TET FIfU

A (A) FT(B)
FA (B) T (C)
FE (C) AT (D)

FAae (B) 3T (D)

1)1
(2) 2
(3) 3
(4) 4

—_

]

= e

1[Option ID=6841]
2[Option ID=6842]
3[Option ID=6843]
4[Option ID=6844]

Sl. No.62
QBID:160062

According to Gandhi, the main reason for the labour capital trouble is

(A) The desire to accumulate wealth on the part of employers.

(B) The desire to accumulate wealth on the part of labourers.

(C) The desire to accumulate wealth on the part of employers for a specific time.

(D) The desire to accumulate wealth both on the part of employers and labourers for a specific time only.
Choose the most appropriate answer from the options given below :

1. (A) and (B) Only
2.(B) and (C) Only
3.(C) and (D) Only
4. (A) and (D) Only

1) 1

() 2

(3) 3

) 4

TR F ATER -5 A T F TG B B

(A) THEIRST 6l AR 9 99 9Ug 5591

(B) MW I IR F 4 TUE Fl 3597

(C) Terefl wg famig < foru FEmen 6l I 9 a99us 6t s=ar

(D) e HET {39 % o et o gia= gH f A% ¥ 99 50g ) 550
= fzu T faeeTt @ ¥ TeE SUgT S H == Fifw

A (A) HAX (B)
. FAS (B) AN (C)
A (C) FT (D)
A (A) F (D)

@ 1

—_

S

= e




(2) 2
3) 3
(4) 4
1[Option ID=6845]
2[Option ID=6846]

3[Option ID=6847]
4[Option ID=6848]

Sl. No.63
QBID:160063

Track II is often needed before track I because Track I mediation will not work if

(A) The contlict is needs-based or value based on

(B) The parties are ready to negotiate or the conflict is not ‘ripe for negotiation’.

(C) The general population is unsupported of the peacemaking efforts.

(D) One of the parties is not too fragmented, ill define high powered or in experienced to allow for effects de-
escalation or negotiation.

(E) Negotiation is impossible because views of the party/parties on the issue is considered illegitimate by
others.

Choose the correct answer from the options given below :

1. (A). (B) and (C) Only
.(A). (C) and (E) Only
.(B). (C) and (D) Only
(C), (D) and (E) Only

b

=

(1) 1
(2) 2
(3) 3
4) 4

A 3F 1 W T oF 2 SAUlea Bl & T o 1 ASEEdal F A8 w0 A

(A) I STETIRAT AT AYAT o3 AT &

(B) U&THR ATl F [T TAR B SIS TIT I STEAT OF A8 T5 & @l Al F o

(C) 3ATH SHaT WG F1F9 @ q9:0 fFd S o) 79 1 999 T8 Al B

(D) 5 UF TR a1 ANF Tied, FAHTE, I 70 T Agan -wgaed 78 g @ =
TqTE T F NP g2 AYST Fdl FIAU JGR 7 SR

(E) @7l J99d Ft B FAIF (999 | A0 UF I SHY ATIF JTFR F T SAE I T
2

= fTu U o @ ¥ wE o == e

FAA (A). (B) HT(C)

2. A (A). (C) HT (E)

3. FFA (B), (C) AT (D)

4. Fae (C), (D) 3T (E)
1) 1
(2) 2
3) 3
4) 4

1[Option ID=6849]
2[Option ID=6850]
3[Option ID=6851]
4[Option ID=6852]

Sl. No.64
QBID:160064




Pacific methods of Conflict Resolution are

(A) Negotiation

(B) Coercion

(C) Persuasion

(D) Aggression

Choose the correct answer from the options given below :

1. (A) and (B) Only
2.(A) and (C) Only
3. (B) and (C) Only
4. (C) and (D) Only

(1) 1
(2) 2
(3) 3
4) 4

7 HHTST <R Tt fatE §
(A) T

(B) e

(C) AT

(D) HATHHRAT

= fou MU ATt § | A ST R TEE A

. T (A) AT (B)
T (A) AT (C)
. e (B) AT (C)
_FEA (C) T (D)
) 1
() 2

3) 3
(4) 4

Ty R S

1[Option ID=6853]
2[Option ID=6854]
3[Option ID=6855]
4[Option ID=6856]

Sl. No.65
QBID:160065

Year 2000 : International year for peace culture declared by UNESCO. Its manifesto includes
(A) respect the life and the dignity of each person

(B) not to share my time and tools

(C) to practice the non-violence refusing violence is all of its forms

(D) not to contribute to the development of my community

Choose the correct answer from the options given below :

1. (A) and (B) Only
2. (A) and (C) Only
3.(B)and (C) Only
4. (A) and (D) Only

1) 1

2) 2

(3) 3

4 4




THEH TAT F9 2000 N STHRIAGT WG FERA a9 =raq = 7, 55F dfwees 7 mive 2
(A) TIH = F SaT T@ AT H

(B) U HHT T HHATIAT Fl H1Z TA FAAT

(©) =t T ° TeEn @ uftear #= AfgAr 7 g A

(D) U4 HYZE F [THE ¥ IAIEH T8 oA

= fzu U foereTt @ & weifae SUET ST B =EA AT

A (A) HAX (B)
A (A) IR (C)
A (
A (

[—

(S

B) 3T (C)
A) 3T (D)

= e

(1) 1
) 2
3) 3
(4) 4
1[Option ID=6857]
2[Option ID=6858]

3[Option ID=6859]
4[Option ID=6860]

Sl. No.66
QBID:160066

Match List I with List IT

LISTI LISTII

Text [Place of convenice of 1st Councill
. [Lakottaravada | I. [Mount Vebhara
Tibetan Dulva | II. [Nyagrodha Cave
lAsvaghosa IIL. [Indrasila Cave
. |Pili Canon IV |Saptapanni Cave

o|o|s|=

Choose the correct answer from the options given below:

1. (A)-(IV), (B)-(III), (C)-(II), (D)-(I)
. (A)-(D. (B)-(IT), (C)-(IV), (D)-(III)
- (A)-(I). (B)-(II), (C)~(IID). (D)-(IV)
- (A)-III), (B)-(I). (C)-(II), (D)-(IV)

o bd

I

11
() 2
(3) 3
(4) 4




A -1 TG F -1 F 7 Fiw

Tget-1 get-n

D] TR T SATEA T
A |SrFmTEE |1 |39 TEa
5. | fossdlt Zea| o | <A &
c | |m |3zEe TE
D | TTfet Uy Iv. | eIt T

= fou U faem ¥ § "9 S 1 =99 e

A(A)-(IV), (B)-(III), (C)-(II), (D)-(I)
(A)-(I), (B)-(ID). (C)-(IV). (D)-(IIT)
. (A)-(D, (B)-(ID). (C)-(III), (D)-(IV)
. (A)-(IIT), (B)~(I), (C)-(II), (D)-(IV)

L D =

=

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=68611]
2[Option ID=6862]

3[Option ID=6863]
4[Option ID=6864]

Sl. No.67
QBID:160067

Match List T with List IT

LISTI LIST II
_ |Sitigilona Kappa | 1. |Contrary to Paccittiva 35
. |Gamantara Kappa| Il |Contrary to Paccittiya 37

. | Dvangula Kappa | [I1. [Contrary to Paccittiva 38
. Palongina Pattum | IV. |[Contrary to Paccittiya 51

olo|w|=

Choose the correct answer from the options given below:

1. (A)-(IIT), (B)-(IT), (C)-(IV), (D)-(I)
. (A)-(II). (B)-(I). (C)~(III), (D)-(IV)
. (A)-(IID), (B)-(I), (C)-(II), (D)-(IV)
. (A)-(I). (B)-(II). (C)~(III), (D)-(IV)
11
) 2
3) 3
(4) 4

s b

s




A -1 TG F T -11 T A

H?ﬂ‘—l H\Eﬁ—n
A [FEEfEroRReT |1 359 wifeef  foeg)
B [THTEEFT 1 |373 e %ﬁ]%ﬁT,
i, rj"l'f}?fl‘cﬁ':q m 383 TI=T %W,
D. Wﬁﬁ?q@ql\: “l%“flT%Fﬁ?%]%Tg

= fau U fosel § | "E ST H =E

1
2
3
4

1)
(2)
(3)
(4)

1
2
3
4

1[Option ID=6865]
2[Option ID=68661]
3[Option ID=6867]
4[Option ID=6868]

o

. (A)-(IIT), (B)~(I1), (C)-(IV), (D)~(I)
- (A)-(ID), (B)-(I).
- (A)-(III), (B)-(I). (C)~(II), (D)-(IV)
(A)-(I), (B)-(ID),

(C)-(III), (D)-(IV)

(C)-(IID), (D)-(IV)

HITST

Sl. No.68
QBID:160068

Match List T with List IT

LISTI LISTII
Pitaka and Vaipulya Siitral] Name of the texts
A |Sutta Pitaka I. |Dhawukatha
B. [Vaipulva Sotra Il | Parivara
C. [Vinaya Pitaka III. | Lank&avatara Sitral
D. |Abhidhamma Pitaka IV. |Apadana

Choose the correct answer from the options given below:

L. (A)-(I), (B)-(IV), (C)~(I), (D)-(ILI)
- (A)AIV), (B)-(III), (C)~II), (D)-(I)

b b2

1)
(2)
3)

. (A)-(I), (B)-(III)

. (C)-(I), (D)~(IV)

. (A)-(II), (B)-(II), (C)-(IV), (D)-(I)

1
2
3

4) 4




A -1 TG -1 F HAT I

Feft-1
e oI aqea I | 721 & 7™

geit-n

A ﬂ?{ﬁ?ﬂ’) L |9Tg AT

B. 3371 el 1. | TER

c [T e+ 11 [T FIEAR 5g
D. BTHJ‘JI'E:!’ '&I’d‘cﬁ Iv. [3T93TH

o R S

= fau U faeem ¥ § "9 ST 1 =99 e

. (A)-(II), (B)-(IV), (C)~(I), (D)~(III)
. (A)-(IV), (B)-(III). (C)-(II), (D)-(I)
. (A)-(I), (B)-(III), (C)-(II), (D)-(IV)
- (A)-(ITT), (B)~(1T), (C)~(IV), (D)-(I)

(1) 1
) 2
(3) 3
(4) 4
1[Option ID=6869]
2[Option ID=6870]

3[Option ID=6871]
4[Option ID=6872]

QBID

Sl. No.69

:160069

Match List I with List IT

LISTI LISTII
A |Palitana I. | Uttar Pradesh
B. Mathura II. |Dana
C. |Abhaya I11. [Kankalitila
D |Devgarh IV |Gujarat

FETR N

1)
(2)
3)
(4)

Choose the correct answer from the options given below:

1. (A)-(IV), (B)-(III). (C)-(II), (D)-(I)

- (A)-(I), (B)-(II), (C)~(IV), (D)-(I1D)
. (A)-(ID). (B)-(I). (C)~(III), (D)-(IV)
. (A)~(II), (B)-(IV), (C)~(I), (D)~(1II)

1
2
3
4




A -1 TG -1 F HTT A

H;_Oﬁ-r H?ﬁ—n
o =y
A Ml L [eTLHGH]
B [AU Il =E]
c. (S99 11 [T
D. l:'ﬁl'*'lfza' v, [[TSTHTd

= fgu v foeat ¥ | =@ I @ wEa Fif

1
2
3

=

1)
(2)
(3)

(A)-(IV), (B)-(I1I), (C)-(II), (D)-(I)
. (A)-(I), (B)-(I), (C)-(IV), (D)-(III)
. (A)-(ID), (B)~(D), (C)-(III), (D)-(IV)
- (A)-(IID), (B)~(IV), (C)-(I), (D)-(II)

1
2
3

(4) 4

1[Option ID=6873]
2[Option ID=6874]
3[Option ID=6875]
4[Option ID=6876]

Sl. No.70

QBID

:160070

Match List I with List IT

LISTI LIST 11 |
A [No-Kasava I. |Daréanavarana karmal
B. |Aghati karma II. |Antarava karma
C. |Prachala-Prachala 111. |Mohaniva karma
D. |Dana, Labha, Bhoga, Upabhoga virval IV. [Vedaniva karma

Choose the correct answer from the options given below

1. (A)-(I1I), (B)-(IV), (C)-(I), (D)-(II)
. (A)-(IIT), (B)-(I), (C)-(IV), (D)~(II)
. (A)-(ID). (B)-(I), (C)~(IV), (D)-(I1I)
. (A)-(IV), (B)-(I), (C)-(II), (D)-(III)

fu b2

1)
(2)

1
2

3) 3
4) 4




A -1 TG -1 F HAT I
Tqet-1 Tt-n

A [i-F9 I [FYTHTEROT A
B |4= 4 I [$EE
C. [Tt == T III. H}iﬁT-ﬁ"J W
D. |G, T4, IﬁTf, 3‘1‘34}[‘1 4| v, e FH

= fu v faeat ¥ | =@ I = =Ea Fif

L. (A)-(III). (B)-(IV), (C)-(I), (D)~(II)
2. (A)-(IIT), (B)-(I). (C)-(IV), (D)-(II)
3. (A)-(II), (B)-(D), (C)-(IV). (D)-(I11)
4. (A)-(IV), (B)-(I). (C)-(II). (D)-(I1I)

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=6877]

2[Option ID=6878]

3[Option ID=6879]
4[Option ID=6880]

Sl. No.71
QBID:160071

Match List T with List IT

LISTI LISTII
A |Arihanta I. |3rd Jewel
B. |Samyak Caritra] [I. |Tattvarthasotra
C. |Parévanatha I11. |1st Preceptor
D. [Umaswami IV, |23rd tirtharikaral

Choose the correct answer from the options given below:

1. (A)-(II), (B)-(IIT), (C)~(IV), (D)-(I)
. (A)-(IV), (B)-(III), (C)-(I), (D)~(II)
. (A)-(IID), (B)-(IV), (C)~(II), (D)-(I)
. (A)-(IID), (B)-(I), (C)-(IV), (D)~(1II)
(1) 1
2) 2
3) 3
(4) 4

s d

.




A -1 TG -1 F HAT I

‘Fj\?ﬁ—r 'F;!?ﬂ'—ﬂ
A H&F—H L [T T
B U =T | 1 ("I*'_Q’TQIH?[
c. [TTETg . | TgH T
. |SHTET  |v 23T dtde

= fgu T foeat ¥ | =@ I @ =Ea Fif

AA)-(I1), (B)-(III), (C)-(IV), (D)~(I)
(A)-(IV), (B)-(III), (O)-(I), (D)-(II)
. (A)-(III), (B)-(IV), (C)-(II), (D)-(I)
. (A)-(III), (B)-(I), (C)-(IV), (D)-(II)
11
(2) 2
(3) 3
(4) 4

b b2 =

I

1[Option ID=6881]
2[Option ID=6882]
3[Option ID=6883]
4[Option ID=6884]

Sl. No.72
QBID:160072

Match List T with List IT

LISTI LISTII
Book Author
Conguest of Violence : The
A |Gandhian Philosophy of [ |Sir Edwin Arnold

Conflict
Jinnah and Gandhi — Their Role
" |in India’s Quest for Freedom

II. [Toan Bondurant

C. [From Yervada Mandir II1. IMajumdar
D. |The Song Celestial IV. M. K. Gandhi

Choose the correct answer from the options given below:

L. (A)-(I), (B)-(II), (C)-(III), (D)-(IV)
. (A)-(I). (B)-(IIT), (C)-(I), (D)-(IV)
. (A)-(II), (B)-(III), (C)-(IV), (D)-(I)
. (A)-(III), (B)-(IV), (C)-(D). (D)~(II)
11
(2) 2
(3) 3
(4) 4

o b2

.




[

-7 % WY g -Ta e

-1
qh

TS ATE AT
A | 7 el feeeht

T o= AT

[T SR

B [UST 39 3(EaTs %2 |1
C. [SbTH JLFGT II'ET L. [JSHETR
D.[G T Hereaae v [TH, o TR

=N

1) 1
) 2
(3) 3
(4) 4
1[Option ID=6885]
2[Option ID=6886]

3[Option ID=68871]
4[Option ID=6888]

H=r fau U oo ® § HE S o =Ed i

L. (A)-(I), (B)-(II), (C)-(III), (D)-(IV)
2. (A)-(II), (B)-(III), (C)~(I), (D)-(IV)
3. (A)-(ID), (B)-(IIT). (C)-(IV), (D)~(I)
(A)-(I), (B)-(IV). (C)-(I), (D)~(II)

Sl. No.73
QBID:160073

Match List I with List IT

LISTI LISTIT
Movements/Satyagraha Year
A |Champaran Satyagraha I 11920
B. [Non Co-operation Movement | 11 |1942
C. [Dandi March IIT. {1930
D. |Quit India Movement IV |1917

(1) 1
() 2
(3) 3
4) 4

Choose the correct answer from the options given below:

L. (A)~(D), (B)-(II), (C)~(IID), (D)~(IV)
2. (A)-(II), (B)-(I1I), (C)-(IV), (D)-(I)
3. (A)-(IID), (B)-(IV). (C)-(D), (D)-(II)
4. (A)-(IV). (B)-(I), (C)-(I1I), (D)~(II)




A -1 TG -1 F e i
"v',!;_ol"'—r geEit-n

A [AIEYT HcATUS I 1920
= -

B | HHTITT 34F"‘J‘IE:I I 1942

C iléi AT 1L |1930

D. | YT BT AT v, 1917

= fgu T foeat ¥ | =@ I @ =Ea Fif

A(A)-(D), (B)-(II), (C)~(III), (D)-(IV)
A(A)-(IT), (B)-(IIT). (C)-(IV). (D)~(I)
- (A)-(IIT), (B)-(IV), (C)-(I), (D)-(1I)
(A)-(IV), (B)-(I). (C)-(I1I), (D)-(II)
11
(2) 2
(3) 3
(4) 4

b b2 =

I

1[Option ID=6889]
2[Option ID=6890]
3[Option ID=6891]
4[Option ID=6892]

Sl. No.74
QBID:160074

Match List T with List IT

LISTI LISTII
Book Author
A |On the Duty of Civil Disobedience | I [Larry Collin
B. [Kev to Health II. [David Thoreau
C. |Gandhi-His Life and Thought III. M. K. Gandhi
D. Mountbatten and Independent India | IV. | J. B. Kriplan:

Choose the correct answer from the options given below:

1. (A)-(I), (B)-(II), (C)-(III), (D)-(IV)
. (A)-(II). (B)-(III). (C)-(IV), (D)-(I)
. (A)-(IID), (B)-(IV), (C)-(I), (D)-(II)
. (A)-(TV), (B)«(D), (C)-(II), (D)-(I1D)
11
(2) 2
3) 3
(4) 4

tad bod

ds




A -1 TG -1 F HAT I

'\E!;_oﬁ—r H;‘olgf—n
qAE SicED

. [ Q“Fa 1 B ‘&F{

C. Tﬁ'*ﬂ—%ﬁr [l QT—I g 1. [0, &, e

D. | ATS28 2 UZ 3(EU-2-2 31l W (5. St e
= f5u U T ¥ H HE T R =99 R

1. (A)-(I), (B)-(II), (C)-(III), (D)-(IV)
2. (A)-(II), (B)-(IIT), (C)-(IV), (D)-(I)
3. (A)-(III), (B)-(IV), (C)-(I), (D)-(II)
- (A)-(IV), (B)-(I). (C)-(II). (D)~(I1I)
1) 1
(2) 2
(3) 3
(4) 4

e

1[Option ID=6893]
2[Option ID=6894]
3[Option ID=6895]
4[Option ID=6896]

Sl. No.75
QBID:160075

Match List I with List IT

LISTI LISTII
A |Declaration on Culture of Peace I. |2007
B. |International Day of Non-violence declared | II. |1948
C. |UN Declaration of Human Rights I1T. 1999
D [UN Declaration for Rights of Minorities IV 1982

Choose the correct answer from the options given below:

L. (A)-(I). (B)-(II), (C)~(III), (D)-(IV)
2. (A)-(I), (B)-(IIT), (C)-(IV), (D)~(I)
3. (A)-(IID), (B)-(I). (C)-(II), (D)~(IV)
4. (A)-(IV), (B)-(I), (C)~(III), (D)~(I)

(1) 1

(2) 2

(3) 3

(4) 4




A -1 TG -1 F HAT I

Toh—1 Th-1
A |wfa i i—E{-(;J_ﬂTEI Tt = I [2007
B. \*FF%ET Wﬂgf EIF-HTCI'.@"-T ﬁ—om ﬁ 'ZPI'EI'UH I1. [1948
c | araTtareEmr Tt 'Fl':[f?“ g Rkl III. |1999
D, [STFTHETF N SATRR Wﬂ”fvag?rrg’aﬁwn IV. [1982

= fgu T foeat ¥ | =@ I @ =Ea Fif

A(A)-(D), (B)-(II), (C)~(III), (D)-(IV)
A(A)-(IT), (B)-(IIT). (C)-(IV). (D)~(I)
. (A)-(IID), (B)-~(1), (C)-(II), (D)-(IV)
(A)-(IV), (B)-(II), (C)-(III), (D)-(I)
11
(2) 2
(3) 3
(4) 4

o b =

1[Option ID=6897]
2[Option ID=6898]
3[Option ID=6899]
4[Option ID=6900]

Sl. No.76
QBID:160076

Arrange the last journey of the Buddha from Rajagaha to Kushinara —
(A) Pataligama

(B) Bhandagama

(C) Nalanda

(D) Hatthigama

(E) Pava

Choose the correct answer from the options given below :

1. (C), (A), (B), (D). (E)

2. (A). (B). (D), (C), (E)
3.(A). (E). (B). (C). (D)
4.(E), (A), (B). (D). (C)

1) 1

() 2

3) 3

(4) 4

TSTE | FROT A g7 I TR0 I R ST EGT T

(A) dreferm

(B) HEIMH

(C) T

(D) Feam

(E) Tma

= feu U foet @ ° wE T == e

1. (C), (A), (B), (D), (E)
2.(A), (B). (D). (C), (E)
3.(A), (E), (B), (C). (D)
4.(E). (A). (B). (D). (C)

1) 1




(2) 2
3) 3
(4) 4
1[Option ID=6901]
2[Option ID=6902]

3[Option ID=6903]
4[Option ID=6904]

Sl. No.77
QBID:160077

Arrange the following in chronological order (first to last)
(A) Bhavaviveka

(B) Aryadeva

(C) Chandrakirti

(D) Santideva

(E) Buddhapalita

Choose the correct answer from the options given below :

L. (B), (E). (D), (C). (A)
(A), (C). (D). (B). (E)
(B). (E). (A). (C). (D)
.(A). (B). (C). (D). (E)
@1
@ 2
@) 3
) 4

frefafaa = 999 3 a8 F F § FICERETHER SAaEdd A
(A) WTEfaas

(B) TIzd

(C) =gifa

(D) Tmfeea

(E) FgHTerd

= fZU U faeT B HE ST R TEE HI

a2

A=

), (E), (D), (C), (A)
). (C), (D). (B), (E)
). (E). (A). (C). (D)
), (B). (C). (D). (E)

L(
2.
2 B

>0 ©

4.
(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=6905]
2[Option ID=6906]

3[Option ID=6907]
4[Option ID=6908]

Sl. No.78
QBID:160078




Arrange the following Bhikkhus in chronological order from the ordination point of view —
(A) Pancavaggiya

(B) Moggalana

(C) Yasa Thera

(D) Uruvela Kassapa

(E) Gaya Kassapa

Choose the correct answer from the options given below :

1. (C), (D). (E), (A). (B)
2 (D) (E), (C), (B), (A)
.(A) (C), (D). (E), (B)
4. (C), (D), (A), (B), (E)
1) 1
) 2
(3) 3
(4) 4

frefeiaa fagstt o Tasa1 & FEHYT & FeTsrATar saaeda A
(A)  TIFEE

(B) WA
(C) TF X
(D) ITAA FEET
(E) AT FET

= f2u U Il § ® HWE IO w == I

1. (C), (D), (E), (A), (B)
2.(D), (E), (C), (B). (A)
3.(A), (C), (D), (E). (B)
4.(C), (D), (A), (B), (E)
1)1

(2) 2

(3) 3

(4) 4

1[Option ID=6909]

2[Option ID=6910]

3[Option ID=6911]
4[Option ID=6912]

Sl. No.79
QBID:160079

Arrange the following in chronological order from latest to oldest
(A) Dhavalatika

(B) Tattvarthasttra

(C) Samanasuttam

(D) Pramanamimansa

(E) Acaranga sttra

Choose the correct answer from the options given below :

L.AE), {A). {B).(C). (D)
2 (D). (B), (C). (E), (A)
3. (A). (E). (D). (C). (B)
4.(C). (D), (A), (B), (E)
11
(2) 2
(3) 3
(4) 4




freTfora Tt FeTFATTER SAfeqq | e it S SatEag #=i -
(A) TSR

(B) TEGHA

(C) THUEA

(D) THTOEHTET

(E) AR

= fau U faem @ ¥ HE ST w =EA FIf

.(E). (A). (B). (C). (D)

(D), (B), (C). (E). (A)

(A), (E), (D), (C), (B)
(C). (D). (A). (B), (E)

S T O

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=6913]
2[Option ID=6914]

3[Option ID=6915]
4[Option ID=6916]

Sl. No.80
QBID:160080

In the order of Gunasthana, identify the correct sequence of 5 Asravas in the light of Karmaksaya :
(A) Pramada

(B) Kasaya

(C) Mithyatva

(D) Yoga

(E) Avirati

Choose the correct answer from the options given below :

(B), (A), (C), (E). (D)
(C). (E). (A), (B). (D)
(C). (A), (E), (B). (D)
. (D). (B), (C), (A), (E)
(1) 1
(2) 2
(3) 3
4) 4

TORYT % R0 H FHEE 58 5 SATHAl F A FH H TEEnee
(A) THI

(B) 9™

() TaeaTes

(D) =

(E) sAfemfa

= fou T faem 3§ "8 s 1 == i

Ia o bD —

1. (B). (A), (C), (E), (D)

2.(C), (E). (A), (B), (D)

3.(C). (A). (E). (B). (D)

4.(D). (B). (C). (A). (E)
1) 1




(4) 4

1[Option ID=6917]
2[Option ID=6918]
3[Option ID=6919]
4[Option ID=6920]

Sl. No.81
QBID:160081

Write in the sequencing Ghati karmas to Aghati karmas among the following
(A) Vedaniya

(B) Mohaniya

(C) Nama

(D) Ayu

(E) Antaraya

Choose the correct answer from the options given below :

1. (E), (D), (B), (C), (A)
2.(E), (C {D) (B). (A)
3. (B). (E), (C), (D), (A
4. (B), (D) (A), (C), (

) 1

(2) 2

(3) 3

4) 4

frfafEa @ & =nfasat va STETaAt = 9 9 e -
(A) FEAE

(B) HAIEAE

(C) HMH

(D) &g

(E) SA=did

= 2 U faeeTt 4§ 9E ST 1 == A

1. (E), (D) (B). (C] (A)
2.(E), (C), (D). (B).(A)
3.(B). (E (C) }, (A)
4.(B). (D), (A] (CL (E)

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=6921]
2[Option ID=6922]
3[Option ID=6923]
4[Option ID=6924]

Sl. No.82
QBID:160082

Arrange the following in a chronological order from most recent to the earliest.
(A) Savagram Ashram

(B) Sabarmati Ashram

(C) Kochrab Ashram

(D) Tolstoy Farm

Choose the correct answer from the options given below :

1. (A). (B), (C). (D)
2. (A), (O), (B), (D)
3.(B).(A), (0). (D)
4.(D). (A). (B). (C)
(1) 1
(2) 2




3) 3

(4) 4

fr=fefaa = Fd=a8 ¥ STfan & e 1§ 59ared it
(A) TIETITH STIH

(B) HTEITH ATH

(C) TPIERE T4
(D) T(AET FTH
Hi= fzu U faeeTt § 9 "E 3T o == fif

.(A), (B), (C). (D)
.(A), (C), (B). (D)
(B). (A). (C), (D)
(D) (A), (B). (O)
(1) 1
(2) 2
(3) 3
(4) 4

= W b =

1[Option ID=6925]
2[Option ID=6926]
3[Option ID=6927]
4[Option ID=6928]

Sl. No.83
QBID:160083

Put the following events from Gandhi's life in their chronological order :
(A) Awarded ‘Kaiser-i-Hind Prize’.

(B) Satyagraha started against ‘Black Act’.

(C) Started editing of Young India and Navajivan

(D) Resolution of complete Independence

Choose the correct answer from the options given below :

1. (A), (B), (C), (D)
2. (B). (A), (C), (D)
3.(C), (D), (B), (A)
4.(D). (C), (A). (B)

1) 1

(2) 2

(3) 3

(4) 4

[ ¥

TR F SeR @ FEia EfafEd Tl B FEHHER SAaedd hife
(A) F-u-fag Hi sty o genta e T
(B) ‘IS HA F %5 HeAWE AN T

(C) ‘T 3fza’ &N ‘FAsitaa o HUIET A TR
(D) I3 TaAA F TFT

=1 2 U faeeT 4 ® wE IO i =EE A

.(A), (B), (C), (D)
(B). (A). (C), (D)
(C). (D). (B), (A)
. (D), (C), (A), (B)
1) 1
(2) 2
(3) 3
4) 4

Fa W B =

1[Option ID=6929]
2[Option ID=6930]




3[Option ID=6931]
4[Option ID=6932]

Sl. No.84
QBID:160084

Put the following of Gandhi periods of imprisonment in their chronological order.
(A) Volksrust Imprisonment

(B) Yervada Imprisonment

(C) Aga Khan Palace Imprisonment

(D) Johannesburg Imprisonment

Choose the correct answer from the options given below :

A), (B), (C), (D)
B). (D), (A), (C)

C). (A), (D) (B)
(D). (A). (B). (C)

I
2.
3

r—\.ﬂ'_\/'-\t—\

1)1
(2) 2
(3) 3
4) 4

TR T FTETE § TE F AErad ST 9 FEEATEE SAaedd F
(A) TFEES FOATH

(B) FLEET FIIAH

(C) AT @I UeiE HTary

(D) SEFHST FHEE

= fgu v foaweat @ § =@ I @ =Ea FIf

(A) (B). (O), (D

) (D). (A). (C)
). (B
B). (C

), (A), (D
(D). (A), (

E S

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=6933]
2[Option ID=6934]

3[Option ID=6935]
4[Option ID=6936]

Sl. No.85
QBID:160085

Arrange the following International Days in a chronological sequence.
(A) World Health Day

(B) World Humanitarian Day

(C) World Diabetic Day

(D) World Food Safety Day

(E) World Day of Social Justice

Choose the correct answer from the options given below :

l. (A), (B). (C). (D), (E)

). (C). (A). (E). (D)

(C] (D). (E). (A), (B)

4.(E). (A). (D). (B). (C)
1
@ 2
() 3
4 4




fFrfefaa s st 1 e § sared i
(A) Tave e fgam

(B) Tava wraar fgom

(©) Tovs wws fom

(D) fava @ gean femm

(E) Tava s == feag

= fzu U foeea § ¥ TE ST R == A

1. (A), (B), (C). (D), (E)
2.(B), (C), (A), (E), (D)
3.(0). (D). (E) (A). (B)
4.(E). (A), (D), (B), (C)

(1) 1

() 2

3) 3

4) 4

1[Option ID=6937]
2[Option ID=6938]
3[Option ID=6939]
4[Option ID=6940]

Sl. No.86
QBID:160086

Given below are two statements :

StatementI : There are three kinds of Samadhi-Kamasamadhi, Artipa Samadhi and Ripa Samadhi.
Statement II : A meditator reaches in riipa samadhi after crossing artipa samadhi.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement I is true

1) 1

) 2

(3) 3

4) 4

A= 21 e faw e

FOA I TS F AT TR - FHTAIT, TET FEAT ST T TAT B 2
FAA I :  HIIF FAET TANT F TR FA F T0EG T FHAT F g 2
ITIF FIF F ATATR H, A9 50 0 T ¥ F 9 S Aw == A

CFYA AR 2 9 2

CHYA 1 AR I ZHET e ©
FIA 1 HE B, SR F9F 17T 2
CFYA [T B, TR FUF 98 B
1) 1

() 2

3) 3
(4) 4

4= Tad -2 —_

1[Option ID=6941]
2[Option ID=6942]
3[Option ID=6943]
4[Option ID=6944]

Sl. No.87
QBID:160087




Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) :  Living beings are protected by performing Ahimisa vow in Jainism.

Reasons (R) :  Abhaya Dana is included in four kinds of charity in Jainism.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)
2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
3. (A) is correct but (R) is not correct
4. (A) is not correct but (R) is correct
1) 1
2) 2
3) 3
4) 4

ﬁ%[?:T Eﬁ‘d?ﬁﬂ:"l'q% : Th HAMYFHI Assertion (A) %E‘?ﬁ%’%ﬁ%ﬁ? QI 3HE 9T Reason (R)
FEAY :

AYFIT (A) : g9 B ATEET F U I SAE1 i qra i St g

FT (R) : 9 ¥ AN gET . ANF-gH e 2|

ST FIF F ATATR °, = G0 T AT ¥ ¥ g9H SUgTE ST W T9T Fife

1.(A) R (R) 3AT 8 B &R (R), (A) i T =m0 3
2.(A) ST (R) THT FF 3, AMHT (R), (A) T TF =1 78 &
3.(A) TR B, W R) 78 TE B

4.(A) & TE B, AfFA (R) FE 2

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=6945]
2[Option ID=6946]
3[Option ID=6947]
4[Option ID=6948]

Sl. No.88
QBID:160088

Given below are two statements :

Statement I : Acarya Akalarika has written Jaina texts in Prakrit language.

Statement II : Jaina caves are situated in South India.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement I is correct
11
(2 2
(3) 3
4 4




FIA L TEE AFAE 4 SATGH F TS EG 91 F o #
FA I SIETOMTT S ETC ST B
ST YT F ATAIF H, A G 0 faweT § | Hed I ST A = AN

HYE 1SR 5ET 98 8

CFIH AR I EAT T B

HY [HE B, e 99 17T 2
P 17T B, Wi a9 T8 B
@ 1

) 2

3) 3
(4) 4

= T [R] [y

1[Option ID=6949]
2[Option ID=6950]
3[Option ID=6951]
4[Option ID=6952]

Sl. No.89
QBID:160089

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) :  Action is duty fruit is rig Action alone is thine leave thou fruit strictly alone.

Reasons (R) : Correlation of every right to some corresponding duty to be first performed.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)
2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
3. (A) is correct but (R) is not correct
4. (A) 1s not correct but (R) is correct
1) 1
2 2
3) 3

4) 4
-

= ?':T w9 Fc'JI a % : Tk AqHTH (Asserticn(A]) + &7 § foraa % ar gad 9 ] (Reason [R)) E3
I H

AMFIT (A) :  FF FT 3, T JOAQO FE & FAA FA FAT TR FE & AT FAEA Al
feran @a =

FEOT (R) FaIgH T ATt Tt 59 #0536 SgET ToIE ATTHER F HE-TE @A
=nfzu)

ST FYF F ATF H, 9 5T T G § T 999 S0 I F 994 Fie

1.(A) 3T (R) ZFT |E 2 SR (R), (A) I T8 =780 B
2.(A) FR (R) 3T HEl B, WA (R), (A) T & =11 T8 &
3.(A) HE B, W (R) T& T8 B
4.(A) TR TH R, A R) B B
11
@) 2
(3) 3
(a) 4

1[Option ID=6953]
2[Option ID=6954]
3[Option ID=6955]
4[Option ID=6956]




Sl. No.90
QBID:160090

Given below are two statements :

StatementI : Politics is a game where you may bowl your opponent out according to the rules of the game
but you are not permitted to blow out his brain.
StatementII : Convert one’s opponent but not kill him.

In the light of the above statements, choose the most appropriate answer from the options given below :

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement II is correct
11
(2) 2
3) 3
4) 4

FUA 1 TOHITT 98 T &, 998 A9 O % F90 % S7EE A9 [ e # g S 5
ATST L | &, e ATTH 36 o qiEqos o1 fowtag w0 it sagata 72 @dt 2
FO ;7 fansht ug Fr ouiafaa = wwd B g s w98 = g 3
ST FIA F ATATR H, A9 {50 T faFea § F T9E SUFTE ST H 9= AT

1. FYH 137 11 391 J8 8
2. FgA [ I 31 Ted &
3.FYF 1 HE B, AR FUF 11 T 8
4. FYT 1 T B, AR BYT 11 HE B

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=6957]
2[Option ID=6958]

3[Option ID=6959]
4[Option ID=6960]

Sl. No.91
QBID:160091




Read the given passage carefully and answer the question.

Hstian-Tsang was born, with family name Chen, in 602 CE at Chen-lia near the town Kou-shih in the Henan
province of China. He died at the age of 62 years in the Yuhua (Jade Flower) palace at Xian (Chang-an) in 664
CE. Hsiian-Tsang spent 14 years of his life in India as a pilgrim. He stayed in Kashmir for two years, at China-
Bhuseti in Punjab for fourteen months at Nalanda for five years and in and around Magadha for two years and
remaining years in other places including Deccan and South India. He left India in 644 CE and after a few
months stay at Khotan reached China in 645 CE. He brought with him 657 texts, 150 Se-li (Sarira, relics) of the
Buddha and several images of the Buddha in gold, silver and sandalwood loaded on twenty horses. He was
welcomed in China at Hung-ti-monasteries by the representatives of different monastery . For the next two
decades, he worked on the texts, multifarious duties are catered to the genuine but often ostentatious Buddhist
fervour of his royal patron.

21 |1, TS qiETis 90 =9 91, F 9 =1 % & Oh9 ¥ -9 R F gHT 602 3. 0 wA-
g o 231 a1l 3F GG 664 3. F 62 T4 F 3W 7 TAN (AF-3F) Ta -7 (ST-FAR) 75
§ ESAT 91| B | A AU S o G158 99 ARG H A9 9§ 7 5T 69| F FHE | 57 a9,
TS F HA-giE T 14 78N, TIoie ¥ 0w a9 ST g ST 396 ATHuE F & ¥ 57 99 997 7
U T AN 5140 9N TiEd 9 TAE 9 §ar| 5 644 3. H 3 9d IR T T AR
QA § I HIE AT T F TTEE 645 3./ A T8 T AT ;G 657 U9, AF F 150 H-FA (
TR, AT FAw) 91 g7 i @, 9 AR T F TRd ° [Giga o5 ufaw 20 E W
AT & T =T T Sig-faEnt F ufaEtaE 1 7-F fFEn 8 v 951 =@ s g
TF T2 3 AT W F WY HG TEEAT Fq> FAAUGA (B S g A9 # g a9-5791 F

ATEY g <8 F TR TER |

Given below are two statements :

StatementI : Hsiian-Tsang spent 14 years in India

Statement II : Hsilian-Tsang never visited South India during his entire Indian Sojourn.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement II is true

11

(2) 2

(3) 3

4) 4

1= 31 Fee fqg e

T : B WA YRA H 14 TG 9T (|

FIAI: B 90 9 T4 FHY 9 TSTH F 109 FH HT ZIET0T R B =T 18 |
ST I F ATATR H, A= 50 MU FFT B W F9H SUGTE I R == AT

1.9 I AT 5H 9e9 &

2. FI [ AN 11 AT FTHA B
3.FYA I TeT B, ST YT 11 ST8cT &
4. F9F [ FEA B, AT FF 11 T 3
1) 1
) 2

3) 3
4) 4

1[Option ID=6961]
2[Option ID=6962]




3[Option ID=6963]
4[Option ID=6964]

Sl. No.92
QBID:160092

Read the given passage carefully and answer the question.

Hstian-Tsang was born, with family name Chen, in 602 CE at Chen-lia near the town Kou-shih in the Henan
province of China. He died at the age of 62 years in the Yuhua (Jade Flower) palace at Xian (Chang-an) in 664
CE. Hsiian-Tsang spent 14 years of his life in India as a pilgrim. He stayed in Kashmir for two years, at China-
Bhuseti in Punjab for fourteen months at Nalanda for five years and in and around Magadha for two years and
remaining years in other places including Deccan and South India. He left India in 644 CE and after a few
months stay at Khotan reached China in 645 CE. He brought with him 657 texts, 150 Se-li (Sarira, relics) of the
Buddha and several images of the Buddha in gold, silver and sandalwood loaded on twenty horses. He was
welcomed in China at Hung-ti-monasteries by the representatives of different monastery . For the next two
decades, he worked on the texts, multifarious duties are catered to the genuine but often ostentatious Buddhist
fervour of his royal patron.

%‘—rHi*i, SEeD QirtQ!riqnW@??lT, Wﬁqﬂﬂ?%ﬁ%qﬂ‘;l‘iﬁﬁ?ﬁr—ﬁﬂﬁmﬁﬁq 602 3 H =-
frg 7 257 @11 9 HG 664 5. H 62 I9 F 37 4 AW (AW-37) FFa@ g-71 (S=-vmm) wea
§ ZAT A1 B | A AT G F =GE a9 IR § AGAnt F T 7 sada (6| T FHE F 51 a9,
TS o HHA-RE § 14 FEH, TEE § " 99 ST q ST SHE AEIE F &7 g7 a9 a7 7
9T A AT FIE0 9E Higd AT TAET W A T 644 3. ¥ T 9N BIR 99 T AR
QA # I IS ~ada F 6 TvEE 645 3. H =4 qgd| 3 AW A/ 657 U9, F F 150 H-FA (
TR, afeg samm) o g ft T, T R 95 A awdt ¥ [t s ufaard 20 gt m
AEH o | T H SG-TTE F WA A F-F Ben § ST W5 T A1 S a1 G
TF T2 37 91 W F WY T TEAT Fa59 F TqIA 1 A8 7= 3719 7 fFg T9-3291 F
ATEY g W F TR TER |

Identify the childhood name of Hsiiang-Tsang

1. Chen-Liu
2. Kou-Shih
3. Hung-Fu
4. Chen

11

(2 2

(3) 3

) 4

&7 91 & 999 9w A [died A
1. 5-fog
2. Fi-firg
3.F-F

oo
?‘;_'I (

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=6965]
2[Option ID=6966]

3[Option ID=6967]
4[Option ID=6968]

Sl. No.93
QBID:160093




Read the given passage carefully and answer the question.

Hstian-Tsang was born, with family name Chen, in 602 CE at Chen-lia near the town Kou-shih in the Henan
province of China. He died at the age of 62 years in the Yuhua (Jade Flower) palace at Xian (Chang-an) in 664
CE. Hsiian-Tsang spent 14 years of his life in India as a pilgrim. He stayed in Kashmir for two years, at China-
Bhuseti in Punjab for fourteen months at Nalanda for five years and in and around Magadha for two years and
remaining years in other places including Deccan and South India. He left India in 644 CE and after a few
months stay at Khotan reached China in 645 CE. He brought with him 657 texts, 150 Se-li (Sarira, relics) of the
Buddha and several images of the Buddha in gold, silver and sandalwood loaded on twenty horses. He was
welcomed in China at Hung-ti-monasteries by the representatives of different monastery . For the next two
decades, he worked on the texts, multifarious duties are catered to the genuine but often ostentatious Buddhist
fervour of his royal patron.

21 |1, TS qiETis 90 =9 91, F 9 =1 % & Oh9 ¥ -9 R F gHT 602 3. 0 wA-
g o 231 a1l 3F GG 664 3. F 62 T4 F 3W 7 TAN (AF-3F) Ta -7 (ST-FAR) 75
§ ESAT 91| B | A AU S o G158 99 ARG H A9 9§ 7 5T 69| F FHE | 57 a9,
TS F HA-giE T 14 78N, TIoie ¥ 0w a9 ST g ST 396 ATHuE F & ¥ 57 99 997 7
U T AN 5140 9N TiEd 9 TAE 9 §ar| 5 644 3. H 3 9d IR T T AR
QA § I HIE AT T F TTEE 645 3./ A T8 T AT ;G 657 U9, AF F 150 H-FA (
TR, AT FAw) 91 g7 i @, 9 AR T F TRd ° [Giga o5 ufaw 20 E W
AT & T =T T Sig-faEnt F ufaEtaE 1 7-F fFEn 8 v 951 =@ s g
TF T2 3 AT W F WY HG TEEAT Fq> FAAUGA (B S g A9 # g a9-5791 F

ATEY g <8 F TR TER |

Given below are two statements :

StatementI : Hstlan-Tsang carried with him many relics to China.

Statement I : Relics were made of Gold, Silver and Sandalwood.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement II is true

11

(2) 2

(3) 3

4) 4

e 21 g fau T E

FAA1: & A S G qEd AR A S =1 o

FUT I ;A FARY S99, T AN =57 i dact § Higa 9

ST I F ATATR H, A= 50 MU FFT B W F9H SUGTE I R == AT

.Y 1 3T 10 5ET Je9 2

2. FI [ AN 11 AT FTHA B

3.FYA I TeT B, ST YT 11 ST8cT &
4. F9F [ FEA B, AT FF 11 T 3
1) 1
) 2

3) 3
4) 4

1[Option ID=6969]
2[Option ID=6970]




3[Option ID=6971]
4[Option ID=6972]

Sl. No.94
QBID:160094

Read the given passage carefully and answer the question.

Hstian-Tsang was born, with family name Chen, in 602 CE at Chen-lia near the town Kou-shih in the Henan
province of China. He died at the age of 62 years in the Yuhua (Jade Flower) palace at Xian (Chang-an) in 664
CE. Hsiian-Tsang spent 14 years of his life in India as a pilgrim. He stayed in Kashmir for two years, at China-
Bhuseti in Punjab for fourteen months at Nalanda for five years and in and around Magadha for two years and
remaining years in other places including Deccan and South India. He left India in 644 CE and after a few
months stay at Khotan reached China in 645 CE. He brought with him 657 texts, 150 Se-li (Sarira, relics) of the
Buddha and several images of the Buddha in gold, silver and sandalwood loaded on twenty horses. He was
welcomed in China at Hung-ti-monasteries by the representatives of different monastery . For the next two
decades, he worked on the texts, multifarious duties are catered to the genuine but often ostentatious Buddhist
fervour of his royal patron.

%‘—rHi*i, SEeD QirtQ!riqnW@??lT, Wﬁqﬂﬂ?%ﬁ%qﬂ‘;l‘iﬁﬁ?ﬁr—ﬁﬂﬁmﬁﬁq 602 3 H =-
frg 7 257 @11 9 HG 664 5. H 62 I9 F 37 4 AW (AW-37) FFa@ g-71 (S=-vmm) wea
§ ZAT A1 B | A AT G F =GE a9 IR § AGAnt F T 7 sada (6| T FHE F 51 a9,
TS o HHA-RE § 14 FEH, TEE § " 99 ST q ST SHE AEIE F &7 g7 a9 a7 7
9T A AT FIE0 9E Higd AT TAET W A T 644 3. ¥ T 9N BIR 99 T AR
QA # I IS ~ada F 6 TvEE 645 3. H =4 qgd| 3 AW A/ 657 U9, F F 150 H-FA (
TR, afeg samm) o g ft T, T R 95 A awdt ¥ [t s ufaard 20 gt m
AEH o | T H SG-TTE F WA A F-F Ben § ST W5 T A1 S a1 G
TF T2 37 91 W F WY T TEAT Fa59 F TqIA 1 A8 7= 3719 7 fFg T9-3291 F

ATEY g W F TR TER |
Match List I with List II

LISTI LIST II
A [Yuhua I. |Spent 14 months
B. [Nilanda II. |Spent 2 vears
C. [Kashmir IIT. |The place of Death of Hsiian-Tsang|
D. |Punjab IV |Spent 5 years 1

Choose the correct answer from the options given below:

1. (A)-(II0). (B)-(I). (C)-(II), (D)-(IV)
2. (A)-(IV), (B)-(I), (C)-(II). (D)-(I1I)
3. (A)-(IID), (B)-(II), (C)-(IV), (D)-(I)
4. (A)-(IIT), (B)-(IV). (C)-(II). (D)-(I)
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(2) 2

(3) 3

(4) 4




-1 F Y A -1 F F= A

ﬂ;‘oﬁx Hﬁﬁ‘ﬂ
a|g-7m |1 |14 ATE ST (o
B.?‘Eﬁ-‘:{T 1 |2 9 =Fdta fon
c | [II_%?W%BQWUTZEFW
D. [TTTTS v. |5 39 =dta fon

=1 feu U faweat 4 ® "E oo == fif

A(A)-(IIT), (B)-(I), (C)-(11), (D)-(IV)
(A)-(IV). (B)-(I). (C)-(II). (D)-(III)
- (A)-(IIT), (B)-(II), (C)-(IV), (D)~(I)
. (A)-(IID), (B)-(IV), (C)-(ID), (D)-(D
11
(2) 2
(3) 3
(4) 4
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1[Option ID=6973]
2[Option ID=6974]
3[Option ID=6975]
4[Option ID=6976]

Sl. No.95
QBID:160095

Read the given passage carefully and answer the question.

Hstian-Tsang was born, with family name Chen, in 602 CE at Chen-lia near the town Kou-shih in the Henan
province of China. He died at the age of 62 years in the Yuhua (Jade Flower) palace at Xian (Chang-an) in 664
CE. Hsiian-Tsang spent 14 years of his life in India as a pilgrim. He stayed in Kashmir for two years, at China-
Bhuseti in Punjab for fourteen months at Nalanda for five years and in and around Magadha for two years and
remaining years in other places including Deccan and South India. He left India in 644 CE and after a few
months stay at Khotan reached China in 645 CE. He brought with him 657 texts, 150 Se-li (Sarira, relics) of the
Buddha and several images of the Buddha in gold, silver and sandalwood loaded on twenty horses. He was
welcomed in China at Hung-ti-monasteries by the representatives of different monastery . For the next two
decades. he worked on the texts, multifarious duties are catered to the genuine but often ostentatious Buddhist
fervour of his royal patron.

=9 AT, TS OTiETE AT ¥ 9, 9 S =9 6 E a8 w-1978 TR F JHT 602 3. " [9-
fog # 3T on| 7 G 664 3. § 62 IT F W A W (F1-39) o -7 (S=-warm) "
T ZST A1 BT W A ST S AGE 99 9Rd § AgAnt F w7 § sada (6| T FE § A a9,
OIS % HE-9F § 14 9EF, ToE § 0 99 ST g S8 SHE A9 &9 ° 5 59 q91 7
T T S ZfET0 YN WiEq ST TIET W A T 644 3. ¥ F 9NG IITH A T AR
TIaH § F AT A T F T 645 3. H A TEE| T AT WG 657 TG, GG H 150 H-wA (
TRR, AT FT99) AR g5 F @, 00 AR T5T F TR § [iEa TR U9 20 TE W
AEE & T = 7 Sig-faEnt & ufaEtaE 1 -F e % 33 951 @ = e a e
TF 72 39 J91 W 6 WY |G TgaT Fa59 F Tq9GA 691 AL T T 7 foeg T9-3591 &
ATET W5 9 H TR TER |




Identify the number of horses on which Hstian-Tsang carried Buddhist texts, images of Buddhas etc. to China.
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h D — e
o O

1) 1
(2) 2
(3) 3
4) 4

T T AU WY WG TG, 7 UAET0 SeAT5 AT W AEF 1 A T 9 3T TS TS
lT}Ersa #;Ii\‘|Q_:

.40
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.20
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(1) 1
) 2
(3) 3
(4) 4
1[Option ID=6977]
2[Option ID=6978]

3[Option ID=6979]
4[Option ID=6980]
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Read the given paragraph carefully and answer the question :

Under the Gandhian economic order the character of production will be determined by social necessity and not
by personal whim or greed. If production is carried out on a small scale, chances of exploitation will be
minimum. Gandhi wanted every nation to be self-sufficient in food and cloth and avoid exploitation through
large scale production Khadi production aims at self-sufficiency of villages in India. He said, “In any case, under
any scheme nothing will be allowed to be produced by the cities which can be equally be well produced by the
villages. The proper function of the cities is to serve as clearing house for the village products™. In his opinion,
the poor of the world cannot be helped by mass production, only by the production of masses. The technology of
the production by masses, making use of the best of modern knowledge and experience, is conducive to
decentralization, compatible with the laws of ecology, gentle in its use of scarce resources and designed to serve
the human person instead of making him the servant of machines.

T H EAFIEE UG SR W T AT TYHT % I e

AT ST =T & AT IeqEA H TR Wﬁm ATHISTF SATATTFAT F AT B
1 F T TSI A9 A ¥ THE TN FE ST =) 91 S 4w W Ieed
Fal STTCAT &t STeoT it STTereR <99 2| st < 3T ot R T U §ie SR 39 5 A
T ATH-TYT 59 T 92 99 W SNET F 59§ 99 B THER B T 99 SeIeT W Asd
ITHOT YR i SATeR - gEfraa Far 31 3T wUA o 6 R oft gen | e oft T 6
SFerTa el B U Tt ot =i % serrgs i srgEta @ & S, e sad & ot @ ¥ ma
T IeMET & TFAT &l TE F BT FE ATHI0 Searal o AT 9aE F HHeE 6 §9 ¥ ¥4 U5
FAT B IR TF W A F 9 A A HEIQ 989 IeaeT H A8 R S qHRA 3, FAd
SHEEE GRT SCIEA o 619N H T8 69 & HAH AeAgHE WH SR A9 F TEE S T
T SeaTEA < it fasai § wErE At 3, mieatadE e % saee, g 5 e F
ST H gy ST 9T H AT H ST S 96T $HE ATFT TG TG A OHAT T F
e 2 2




The character of production according to Gandhi is

1. to be determined by political necessity

2. to be determined by social necessity

3. to be determined by personal whim or greed
. to be determined by psychological necessity
@1

2 2

(3) 3

4) 4

meft T AFER SeAEA i T

I

1. 1 STOT ASHITGF SATATIHRAT o ATET BT =0T

2. T ATARTT HANSTF ATETTFAT F STIET ST M0

3. T SFAFIROT AT hF TESTETLAT T AT & ATIR 9T FAT TET
4. 7 FTATT AASTAR ATTTTFA 6 ATIR T BT =020

(1) 1

() 2

3) 3
(4) 4

1[Option ID=6981]
2[Option ID=6982]
3[Option ID=6983]
4[Option ID=6984]
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Read the given paragraph carefully and answer the question :

Under the Gandhian economic order the character of production will be determined by social necessity and not
by personal whim or greed. If production is carried out on a small scale, chances of exploitation will be
minimum. Gandhi wanted every nation to be self-sufficient in food and cloth and avoid exploitation through
large scale production Khadi production aims at self-sufficiency of villages in India. He said, “In any case, under
any scheme nothing will be allowed to be produced by the cities which can be equally be well produced by the
villages. The proper function of the cities is to serve as clearing house for the village products™. In his opinion,
the poor of the world cannot be helped by mass production, only by the production of masses. The technology of
the production by masses, making use of the best of modern knowledge and experience, is conducive to
decentralization, compatible with the laws of ecology, gentle in its use of scarce resources and designed to serve
the human person instead of making him the servant of machines.

T R SATIEF TG ST 39 W S e F I A

AT ST ST & AT IeAEA H TR Wﬁm TATATTS SATETTHAT & STTET FA
71 fF Fafrs Searaitar {9 oo ¥ T9E AIEET fe Sray =nfEe| 3fz 9 9We w SenA
FFaT SO a1 TI99T <l STTeTeR =gad 2| MArSt <t 3231 4 T TedE U 9IS SR 39 F A
T ATH-TYT 99 37T 92 99 W SAET F 9599 ¥ 99 F THER B T 99 SCET W Asd
ITHOT YR AT - TTar gEfraa Far 31 3T wUA o 6 R oft gon | e oft I 6
SFerTa el B U Tt ot =i % serrgs i srgEta @ & S, e sad & ot @ ¥ ma
T IeMET & TFRAT &l TE H HHIET FE ATHI0 Searal o AT 9aai % HHe % ' ¥ ¥4 e
FAT B AR T W v F 9 A f qErEa g59 Soned F @ A S gt 3, FAA
SEHE GRT SCIEA o AISAH H T8 99 & HATH AeAgHE WH SR ATHT B TR ST TR
T SeaTEA < it fassie § werE At 3, mieatadE e % saed, g 5 e F
ST B gy ST 9T W AT A AT S T $HE ATFT TG TG HOHA T F
e 2 2




According to Gandhi every nation be self-sufficient in

1. Food
2. Coercion
3. Violence
4. Mass production
1) 1
(2 2
(3) 3
4) 4

Mft * ATEN TTF TP B AT AHT T =i

1. @ |
2. TEA |
3. fgar g
4, 92 U9 T IeqEA H
1) 1
) 2
(3) 3
(4) 4

1[Option ID=6985]
2[Option ID=6986]
3[Option ID=6987]
4[Option ID=6988]
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Read the given paragraph carefully and answer the question :

Under the Gandhian economic order the character of production will be determined by social necessity and not
by personal whim or greed. If production is carried out on a small scale, chances of exploitation will be
minimum. Gandhi wanted every nation to be self-sufficient in food and cloth and avoid exploitation through
large scale production Khadi production aims at self-sufficiency of villages in India. He said, “In any case, under
any scheme nothing will be allowed to be produced by the cities which can be equally be well produced by the
villages. The proper function of the cities is to serve as clearing house for the village products™. In his opinion,
the poor of the world cannot be helped by mass production, only by the production of masses. The technology of
the production by masses, making use of the best of modern knowledge and experience, is conducive to
decentralization, compatible with the laws of ecology, gentle in its use of scarce resources and designed to serve
the human person instead of making him the servant of machines.

T R SATIEF TG ST 39 W S e F I A

AT ST = & AT IeqEA H TR Wﬁw TTATAF SATATTFAT F ATET M
71 fF Fafrs Searaitar {9 oo ¥ T9E AIEET fe Sray =nfEe| 3fz 9 9We w SenA
FFaT SO a1 TI99T <l STTeTeR =gad 2| MArSt <t 3231 4 T TedE U 9IS SR 39 F A
T ATH-T49T 99 3T 92 99 W SAGT F 599 ¥ 99 A THER | T 99 SCET W Asd
TTHTOT YR i SATeR AT gAfraa A 31 3T FUA o f6 o oft gom | T oft I 6
Sara Tred § Ut fordt oft =t 6 sege i srata 78 o S, e saet & oSt ate § ma
T IeMET & TFRAT &l TE H HHIET FE ATHI0 Searal o AT 9aai % HHe % ' ¥ ¥4 e
FAT B A T W v F O At f qErEa g5d Soned F @ A S gt 3, FAd
SEHE ZRT SCIEA o AISAH H T8 99 & HATH AeAGHE WH SR ATHT B TR ST TR
T SeaTEA < it fassie § werE At 3, mieatadE e % saed, g 5 e F
ST B gy ST 9T W AT A AT S T $HE ATFT TG TG HOHA T F
e 2 2




According to Gandhi Rural-Urban Dichotomy be there in regard to the

. production by villages only
. production by cities only

. production by both villages and cities

4. clearing houses by villages only
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2 2

(3) 3

4) 4
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e e
3. TRT 7T TTE 21T & 6 Seared
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4. FFS AT T 9 F A
1) 1
() 2
(3) 3
(4) 4
1[Option ID=6989]
2[Option ID=6990]

3[Option ID=6991]
4[Option ID=6992]
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Read the given paragraph carefully and answer the question :

Under the Gandhian economic order the character of production will be determined by social necessity and not
by personal whim or greed. If production is carried out on a small scale, chances of exploitation will be
minimum. Gandhi wanted every nation to be self-sufficient in food and cloth and avoid exploitation through
large scale production Khadi production aims at self-sufficiency of villages in India. He said, “In any case, under
any scheme nothing will be allowed to be produced by the cities which can be equally be well produced by the
villages. The proper function of the cities is to serve as clearing house for the village products™. In his opinion,
the poor of the world cannot be helped by mass production, only by the production of masses. The technology of
the production by masses, making use of the best of modern knowledge and experience. is conducive to
decentralization, compatible with the laws of ecology, gentle in its use of scarce resources and designed to serve
the human person instead of making him the servant of machines.

T H EAFIEE UG SR W T AT TYHT I g

eftamal ST = % STaTa Ieaed i T = TUROT et savasan ATET B
1 Top St SeaTaiiar SA9aT e ¥ THF ATAET R S =nfge| 3fz S W W I
FeFaT SO @ ST9oT <l STTeTeRn =gFad | St i 3= Ff 6 TeaE ag 9IS ST 99 % A
§ ATCH-9T 59 3T 92 T9H T 36T 6 J1599 § TM90T 1 THER 2| Gel 99 IcTed w959
TTHtor R i SATeR T gEfvEd war 31 9 wUA o 6 o oft gon 5 e oft Feen s
Aaq el ¥ uH forft oft =fis & sewres i sgAta T8 4 sret, S sat & oSt ot ® A
T IeME & TFAT &l T H BT HE ATHI0 Searal o AT 99 F e 6 §9 ¥ ¥4 UEE
FAT 2| TR 79 | fava & fda satwa i mgEa gga soaed | 7@ A S Aot 3, Fad
SHEEE GRT SNEA o AISAH | T8 99 3| TAH STeAGEE WH SR A9 B TEE S TG
TN SCIEA 0l TET R § 9EEE el 8, Medtadd [ F TEd, 50 SEEEl 5
ST B gy ST 99T B A RO F9H A I 3HR ANFT T TG B A FA F
fafus 2 2




Use of technology of production by masses is conducive fo

(A) Decentralisation

(B) Rigorous in its use of scarce resources.

(C) Compatible with the laws of ecology

(D) Centralisation

(E) Desinged to serve the human person instead of making him the servant of machines.
Choose the correct answer from the options given below :

1. (A), (B) and (C) only
2.(A).(C) and (D) only
3.(B), (D) and (E) only
4.(A), (C) and (E) only
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(3) 3

(4) 4
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1[Option ID=6993]
2[Option ID=6994]
3[Option ID=6995]
4[Option ID=6996]

Sl. No.100
QBID:160100




Read the given paragraph carefully and answer the question :

Under the Gandhian economic order the character of production will be determined by social necessity and not
by personal whim or greed. If production is carried out on a small scale, chances of exploitation will be
minimum. Gandhi wanted every nation to be self-sufficient in food and cloth and avoid exploitation through
large scale production Khadi production aims at self-sufficiency of villages in India. He said, “In any case, under
any scheme nothing will be allowed to be produced by the cities which can be equally be well produced by the
villages. The proper function of the cities is to serve as clearing house for the village products™. In his opinion,
the poor of the world cannot be helped by mass production, only by the production of masses. The technology of
the production by masses, making use of the best of modern knowledge and experience, is conducive to
decentralization, compatible with the laws of ecology, gentle in its use of scarce resources and designed to serve
the human person instead of making him the servant of machines.

TETT R SAIEF UGT ST 39 W TG Te % S Al

AT ST =FaEdT F AT IeAE hl TF Wﬁw AT ATITTFAT F ATET B
1 o5 e ST AYS] AT § THH AT T ST =ee| F(E B¢ 991 9 Scaed
FFaT SO a1 ST9oT it STTeTeRn =Jad | meist it 32391 9 o6 Tea e Tg 9IS ST 99 % A
T ATH-TYT 99 1 92 99T W SANET F 1S9 § 99 i UNER B TTE g9 ScIET W Asd
Tretor i fit e i giafvaa w31 57 wem o 6 ot gon § foh oft 3
Aad el § vt forft oft =fie 6 sewras i srgAta T8 & Sret, e sat & oSt o | A
T 3ICME B HFRaT Bl TE B HHIIE FE arier el F e vaat % e % ' 8 ¥ e
FAT Bl IAH TF H YA F 9 SAtEA A HErEan ggd Ieed H T8 A S qHRd 3, Fad
SHEEE ZRT SCIEA o AISAH | T8 99 3| HAH STeAGEE WH SR A9 B TEE RS TG
ZHT IEAEA i AT faAre § HEEE w8, mhfEafada At F daqge, 5a qEeE
ST B g ST AT H AT BT T A TS $HR AT WG TG B OHAT T F

e
At &re 2

Given below are two statements :

StatementI : The poor of the world cannot be helped by mass production.

Statement II : Mechanisation is good when the hands are too few for the work intended to be accomplished.

In the light of the above statements, choose the correct answer from the options given below :

1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement II is correct
1) 1
(2 2
(3) 3
4) 4

FEI ;. 9T 99 W/ oGS H favd & 9 satea @ geEan T8 H S gl 2

FOAI . FEHIFEOT UH 590 § 99 A1 ¢ I FE [ T [0 5AF Acqeq qEAT § ITET
I

ST FYF F TR A, A= fGu T A ® ¥ g9 g S wEd e

1. FH [T 11 31§39 2

2. FYF 1R 11 g1 T @

3. FYF 1HcT 8, AR HIF 11 FAAH B

4. FYT 1FET B, A F99 11 Te9 2
(1) 1




(2) 2
3) 3
(4) 4
1[Option ID=6997]
2[Option ID=6998]

3[Option ID=6999]
4[Option ID=7000]
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The table below shows the number of males (M) and Females (F) working in six Nationalized Banks in India,
namely SBI, PNB, UCO, BOB, IOB and UBI located across six cities A-F. Based on the data in the table, answer
the question :

City-wise Distribution of Employees in Banks

Bank SBI PNB UCco BOB 10B UBI

Citj.'l MIFIM|FIM|FIM|FIM|E|M| E

2241673 116| 443 | 500 | 534 | 454 | 256 | 235 | 5336 | 357
456 |346]|256] 366 | 345 | 478 | 285|256 | 166 346 | 287
388 |346|456| 124 | 456 | 235|235| 574 | 599 | 580 | 190
3781124235235 | 388|255 |175[324 | 198] 189 | 256
1201 241]156] 350 [ 234 | 124 | 165] 124 | 334 | 155 ] 181
325|348]174|399 | 439|358 |234|125]235] 278 | 192

< &1 713 diferept H HRA b D e A-F H [Ud 98 APiadd dbl, grdlang, digdl, g, disfdl,
TS 3Idl SR atafTs H HRIG YN (M) 3R Higafisil (Fydi S UeiRid @1 715 & | difciedl & sfibsi &
YR U YUY BT 3R clfofy -
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(V) RS FE e R e
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sl # HHIINE] $1 Ug-aR faazu

EEd Taatems | dioaet Bcal dofdt | omseldt | getemd
Wl M |F M F [M [F M [F [M |[F M |F
A 533|224 673 116 |43 500 [534 454 [256 235 |56 357
B 254 [456 346 |256 |366 |345 [478 |285 |256 166 |346 |287
C 457 388 346 (456 (124 (456 (235 (235 |374 599 589 |[190
D 114 378 [124 [235 235 [388 [255 175 |324 |[198 [189 |26
E 234 120 241 156 [350 |234 [124 |165 |124 334|155 |181
F 353 325 348 174 [399 [439 [358 [234 [125 235 |278 |192

The ratio of the number of females to the number of males in City-E working in SBI, UCO and IOB together is :

LT3 2175
2. 017521707
3 AT 25 AT
L172:175
1) 1
(2) 2
(3) 3
4) 4

Qe E H UHlaAS, 1 3R ATgaflel H T HRIRG Afgarsil DI SRS 3R TENI Bi &1 B U 15 2

LAT73 5175
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(2) 2

(3) 3

(4) 4
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1[Option ID=8601]
2[Option ID=8602]
3[Option ID=8603]
4[Option ID=8604]
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The table below shows the number of males (M) and Females (F) working in six Nationalized Banks in India,
namely SBI, PNB, UCO, BOB, IOB and UBI located across six cities A-F. Based on the data in the table, answer
the question :

City-wise Distribution of Employees in Banks

Bank SBI PNB UCco BOB 10B UBI

FIM|F|M|F

2

FIM|EF|M|F

&

=
-

&

(V8]

2241673 116|443 | 500
456|346 256] 366 | 345
388 |346|456] 124 | 456
378]124]1235] 235 | 388

4541256 | 235] 336 | 357
2851256 | 166 346 | 287
235|574 1599 589 | 190
1751324 | 198 189 | 256
234 [120]241]156] 350 | 234 165|124 1334 ] 155 | 181
353 |325| 348|174 399 [439 2341 1251235]1 278 | 192
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sl # HHIINE] H1 Wg-arR faavu

EEd Taatems | dioaet B cal diefdt | omseidt | geftemd
Wl M |F M F [M [F M [F [M |[F M |F
A 553 224 673 116 |43 |500 [534 454 [256 235 |556 357
B 254 [456 346 |256 |366 |345 [478 285 |256 166 |346 |287
C 457 388|346 [456 [124 |[456 |235 |235 [574 [599 |89 [190
D 114 378 124 235 235 (388 (235 175 |324 198 189 ||236
E 234 120 241 (1536 (350 (234 ([124 [165 |124 334 1535 ||181
F 353|325 348 174 [399 |439 358 [234 [125 235 |278 |192

The approximate percentage of the number of females with respect to the number of males across all the banks
together in City-B is:

1. 88%
2.98%
3.78%
4. 86%

11

(2) 2

(3) 3

(4) 4

Qg B H Yl dbi H AR driRd Afgdisi ! W& goui &l Al Bl i+ fabd=1 Wideid ¢ 2

1[Option ID=8605]
2[Option ID=8606]
3[Option ID=8607]
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The table below shows the number of males (M) and Females (F) working in six Nationalized Banks in India,
namely SBI, PNB, UCO, BOB, IOB and UBI located across six cities A-F. Based on the data in the table, answer
the question :

City-wise Distribution of Employees in Banks

Bank SBI PNB UCo BOB 10B UBI

Cit}'l M|FIM|FIM|F| M|FIM|F|M F

53 12241 673|116] 443 [ 500 | 534 | 454 ] 256 | 235 | 556 | 357
54 1456 (346|256 366 | 345 | 478 [285] 256 | 166 | 346 | 287
1

7 |388)346|456] 124 | 456|235 ]|235[ 574 | 599] 580 | 190
4 [378]124]1235]235|388|255]|175(324|198] 189 | 256
234 [120 ”41 156( 350|234 124 ]165| 124|334 ] 155 | 181
353 |325 174{399 14391358 ]234|125]235] 278 | 192

:ﬁ%la‘?ﬂ%mﬁ‘rlaﬂﬁ YR & B8 e A-F H [d 3¢ APIIEHd db!, Tueiafs, Yu-e!, g, dlsfie,
TS 3ATel AR Fetafrs | SRR YN (M) 3R Afgasil (Fyd U UeiRid @1 715 ¢ | difcs] & 3fibal &
SMYR TR YUY DT IR < IfoTT -

Sl H HHANGT BT Ie-aR faavu

95 | uedlons | diewdt | ger | Aol | omeidt | geflems

qul M F M |F M |F M |F M F M |F

3 224 673 (116 |443 (500 |534 |454 256 235 556 (357
4 456 346 [256 |366 |345 (478 [285 |256 166 346 |287
457 388 (346 436 124 (456 |235 |235 574 599 |5389 (190
114 378 124 235 235 |388 [255 |175 |324 [198 189 |256
234 120 241 156 |350 |234 |124 |165 |124 (334 |155 |181
353 325 348 |174 399 (439 |358 234 125 235 278 (192

The number of females working in UCO from City-A is approximately % more than the number of
females working in PNB from the same city.

Sl =1
=
Ln

1. 278%
2.132%
3. 180%
4.331%

1

2 2

(3) 3

4 4

QR A H gDl db T B Afgarraf o Tear 341 WeR H Uig=«! § BriRd Afgdrsi o1 S 9 a i
farct gfcr=re Sifde ¢ 2

1[Option ID=8609]
2[Option ID=8610]
3[Option ID=8611]
4[Option ID=8612]

Sl. No.104
QBID:3201004




The table below shows the number of males (M) and Females (F) working in six Nationalized Banks in India,
namely SBI, PNB, UCO, BOB, IOB and UBI located across six cities A-F. Based on the data in the table, answer
the question :

City-wise Distribution of Employees in Banks

Bank SBI PNB UCo BOB 10B UBI

Cit}'l M|FIM|FIM|F| M|FIM|F|M F

53 12241 673|116] 443 [ 500 | 534 | 454 ] 256 | 235 | 556 | 357
54 1456 (346|256 366 | 345 | 478 [285] 256 | 166 | 346 | 287
1

7 |388)346|456] 124 | 456|235 ]|235[ 574 | 599] 580 | 190
4 [378]124]1235]235|388|255]|175(324|198] 189 | 256
234 [120 ”41 156( 350|234 124 ]165| 124|334 ] 155 | 181
353 |325 174{399 14391358 ]234|125]235] 278 | 192

:ﬁ%la‘?ﬂ%mﬁ‘rlaﬂﬁ YR & B8 e A-F H [d 3¢ APIIEHd db!, Tueiafs, Yu-e!, g, dlsfie,
TS 3ATel AR Fetafrs | SRR YN (M) 3R Afgasil (Fyd U UeiRid @1 715 ¢ | difcs] & 3fibal &
SMYR TR YUY DT IR < IfoTT -

Sl H HHANGT BT Ie-aR faavu

95 | uedlons | diewdt | ger | Aol | omeidt | geflems

qul M F M |F M |F M |F M F M |F

3 224 673 (116 |443 (500 |534 |454 256 235 556 (357
4 456 346 [256 |366 |345 (478 [285 |256 166 346 |287
457 388 (346 436 124 (456 |235 |235 574 599 |5389 (190
114 378 124 235 235 |388 [255 |175 |324 [198 189 |256
234 120 241 156 |350 |234 |124 |165 |124 (334 |155 |181
353 325 348 |174 399 (439 |358 234 125 235 278 (192

The total number of females working across all the six cities together is more than 1700 in:

Sl =1
=
Ln

1. all the six banks
2. exactly three banks
3. exactly four banks
4. exactly two banks
1) 1
2) 2
(3) 3
(4) 4

vt B e}l © oria Afgarel &1 de Fafatad 7 9 foas 1700 T oifd® § 2

L. i ggdPi A
2. 31® i sbi A
3. 3l® AR dpi A
4.3l al dpl A

1) 1

(2) 2

3) 3

4) 4

1[Option ID=8613]

2[Option ID=8614]

3[Option ID=8615]
4[Option ID=8616]

Sl. No.105
QBID:3201005




The table below shows the number of males (M) and Females (F) working in six Nationalized Banks in India,
namely SBI, PNB, UCO, BOB, IOB and UBI located across six cities A-F. Based on the data in the table, answer
the question :

City-wise Distribution of Employees in Banks

Bank SBI PNB UCo BOB 10B UBI

Cit}'l M|FIM|FIM|F| M|FIM|F|M F

53 12241 673|116] 443 [ 500 | 534 | 454 ] 256 | 235 | 556 | 357
54 1456 (346|256 366 | 345 | 478 [285] 256 | 166 | 346 | 287
1

7 |388)346|456] 124 | 456|235 ]|235[ 574 | 599] 580 | 190
4 [378]124]1235]235|388|255]|175(324|198] 189 | 256
234 [120]241]156| 350|234 | 124 165|124 |334] 155 | 181
353 |325| 348|174 399 [430 | 358 |234] 125|235 278 | 192

19 &) 718 cfereh1 8 MR & B¢ Wekl A-F A R4 S5 TSiachd 31, Tasion, fied), gel, dond,
TS 3ATel AR Fetafrs | SRR YN (M) 3R Afgasil (Fyd U UeiRid @1 715 ¢ | difcs] & 3fibal &
JTYR R YUY DI IR ST -

sl H HHANGT HT Ie-aR fgavu
& | cwdod | doadt | et | dterdt | omdedt | geftemd

qul M F M |F M |F M |F M F M |F

3 224 673 (116 |443 (500 |534 |454 256 235 556 (357
4 456 346 [256 |366 |345 (478 [285 |256 166 346 |287
388 (346 436 124 (456 |235 |235 574 599 |5389 (190
114 378 124 235 235 |388 [255 |175 |324 [198 189 |256
234 120 241 156 [350 |234 |124 |165 |124 (3

353 325 348 |174 399 |439 |358 |234 125 235 278 (192

The difference between the number of males working across all the six banks together in City-C and the number
of males working across all the six banks together in City-D is:

g oW e
LA
1

1. 1022
2.1214
3.1198
4. 1084

1

2 2

(3) 3

4 4

QER C D GHI B¢ dbi H BRI Joui Bl TAT 3R Y D D FH! B¢ dbi H HRIRG Jou i WAl & I
BT HR B 2

1.1022
2.1214
3.1198
4. 1084

11

(2) 2

(3) 3

(4) 4

1[Option ID=8617]
2[Option ID=8618]
3[Option ID=8619]
4[Option ID=8620]

Sl. No.106
QBID:3201006




Both students and teachers work harder and persist longer when they have a high sense efficacy. Which of the
following does not enhance self-efficacy in both students and teachers?

1. Day to day success in achieving tasks

2. Formal school relationships that focus solely on skills
3. Assistance from more knowledgeable partners

4. High expectations from those in the environment

1) 1

() 2

(3) 3

(4) 4

faemadf 3R e/ a9 31fI® FoR IRYH Hd ¢ 3R dd AT TP 3¢ ¥8d & 99 3o UHEIdIGhdl &l 3=
e giar g | FafeiRad # 9 faeniiar ok fRarep] i # W-gHEidesd J gis 987 a1 g 2

1. BRHR G 63 H Gle Ihad]
2. A DINA R Hiad U faemag dey
3. AU AT eIl § gerdr
4. GRa H ¢ERI U A 3U&y
o 2
3) 3
4) 4

1[Option ID=8621]
2[Option ID=8622]
3[Option ID=8623]
4[Option ID=8624]

Sl. No.107
QBID:3201007

Direct instruction is most suited when teachers:

1. teach basic skills
2. have their students explore pathways to solve a mathematics problems
3. encourage their students to refine their creativity in art
4. assign critical thinking exercises
)1
(2 2
(3) 3
(4) 4

Y& =T qaiideh Iugad gidl & oid R1&1 -

1. gt I=re i a1
2. 30 gl ¥ v THart 84 34 & IRl & AN PRI & |
3. 3G+ faeniifl &1 Sl & ITb! HofTdhdl & URSHR & [t Mg d R & |
4. HGTHS [GaROT 30 90 § |
> 2
3) 3
) 4

1[Option ID=8625]
2[Option ID=8626]
3[Option ID=8627]
4[Option ID=8628]

Sl. No.108
QBID:3201008




Match List I with List IT

LIST I (learning style) LIST II (Learning characteristics)

TR — 1 Concr‘_ate. experience and reflective
observation

& B m Ccncr_ele experience and active
expenimentation

& Basssiaie e Abs‘ffgcr con;eptualizatioﬂ and Active
experimentation

o |Neessiaams: v |Abstract conceptualization and reflectivel

observation

Choose the correct answer from the options given below:

1. A-III, B-1V, C-11, D-1
2. AL B-I, C-1IV, D-II
3. A-IV, B-1, C-1I, D-III
4. A-1V, B-1, C-1I1, D-II

1) 1
(2) 2
(3) 3
(4) 4

Gl 1T el 1 e Bifee

T 1 3rferm e T 11 (AT SHHaa)
. : ?;;Taﬁuaaﬁ?ﬁm
. |3ER® 1L |31 3FHd 3R Gishg TN
3P SRR 3R
S M efrer i
L | TR SR
D. [GHENES IV, |orates Qe

fgfatad fdeeal 7 O a8 I &1 99 Hifoe -

A-TI, B-1IV, C-1I, D-1

L.

2. A, B-1, C-1V, D-1I
3. A-IV, B-1, C-1I, D-III
4. A-IV. B-1. C-1II. D-IIT

(1) 1
) 2
(3) 3
(4) 4
1[Option ID=8629]
2[Option ID=8630]

3[Option ID=8631]
4[Option ID=8632]

Sl. No.109
QBID:3201009




Match List I with List IT

LIST I (Tvpe of memory) LIST II (Meaning)
: Memory of remembering the route to
A |Semantic L : 7 =
drive home
Memory that contributes to vour
B. [Episodic II. |sense of self, vour own history or
identity
C. JAutobiographical III. [Memory of General knowledge
Spatial v Meinor}-' of life e\'_ents that happened
to vou or around vou

Choose the correct answer from the options given below:

1. A-III, B-1IV, C-1I, D-1
2. A-I11, B-1V, C-111, D-1
3. A-IIL, B-1I, C-1V, D-1
4. A-IIT, B-I. C-I1, D-IV

1) 1
(2) 2
3) 3
(4) 4
Gl 1T el 1 e Bifee
T 1 (W TR _ o erh
A Fspi i ‘aﬁfgcqﬁﬁmnﬂfwaﬂﬁaﬁ
g Wi 1 AT HGd W, AT
B. RUEHES I |30H Sfae yaTveaH oy |
ARTGH X1 &
C. [srETYIHSG L[99 & Eid
o . [T Iy ST HOE
R B oiiaA-geTell &1 Wi

frgfafad faseal 3 9 98! I & 994 Hifoe

1. A-IIT. B-IV. C-II. D-I
2. A-II, B-IV, C-1I1, D-I
3. A-III, B-II, C-IV. D-1
4. A-IIT, B-1. C-II, D-IV

1) 1

) 2

(3) 3

4) 4

1[Option ID=8633]

2[Option ID=8634]

3[Option ID=8635]
4[Option ID=8636]

Sl. No.110
QBID:3201010

If you want to assess the students performance and want to give them immediate feedback, which software will
you select?

1. Kahoot
2. Animaker
3. Plotagon
4. Powtoon

11

) 2

(3) 3

4) 4




i 3y fqentlal & wrl weRiq &1 it B dlgd § IR 3¢ debld Udd® &1 dlgd g, dl 3mg 4 &
Y fHd Qe daR &l ATl 2

(1) 1
) 2
(3) 3
4) 4
1[Option ID=8637]
2[Option ID=8638]

3[Option ID=8639]
4[Option ID=8640]

Sl. No.111
QBID:3201011

Arrange the following research components in correct sequence:

A. Preparing a research plan

B. Collecting Data

C. Drawing conclusion

D. Formulating a research question/objectives
E. Analyzing data

Choose the correct answer from the options given below:

4) 4

afiRad Ay Yo B Ggt 3iIhH H HafRUd Difoe:
A. Y ASHT IR HRAT

B. g Th Bl

C. Ty [ahTe

D. XY UY/3e 24l BT =00y

E. 3fidhel ol [ggdyur

= fau ¢ fabedl # 9 Ty S0 IR DT 98 BT

1LAD . B.E,.C
2.D.AB.E. €
3.B,D,A,C,E
4 A,B,D,C.E

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=8641]
2[Option ID=8642]
3[Option ID=8643]
4[Option ID=8644]

Sl. No.112
QBID:3201012




In a data set any extreme value, either very large or very small, compared to the rest of the data, is said to be:

1. Exceedance
2. Qutlier
3. Extreme
4. Qutsider
1) 1
(2 2
(3) 3
4) 4

Uh Aol & Gz H [l e AF DI S AN SHidbs| S a1 H U1 dl 9gd So/ dgd B1el ¢, Hedrdl o
|

(1) 1
) 2
(3) 3
(4) 4
1[Option ID=8645]
2[Option ID=8646]

3[Option ID=8647]
4[Option ID=8648]

Sl. No.113
QBID:3201013

In online surveys, which of the following are sampling issues ?

A. People in a household may use the same computer, as they have access to only one.
B. Many respondents may have multiple email IDS.

C. Internet users constitute a biased sample of the population

D. Sampling frames for online surveys are cheap.

E. The governments restrict online surveys.

Choose the most appropriate answer from the options given below :

1. A, B and C only
2. B, Cand D only
3.C,DandE only
4. A, Cand D only

1) 1

2 2

3 3

@) 4




S e H Fafafad # 8§ SH-5H 9 gid=agT qe 8 2

A. [ Th TR & TN U gl LR DI YN Hd gl Fiifcb 3T Ur HHA U gl LR 3 |
B. 3 ITR&IdI31 @ dgferd 3Hd YgdH (ID) 8l Habdil o |

C. T YAl ST Bl U Ydidie! UldeRigid § |

D. A Hd&vi & e Ufa=a- hH I ¢ |

E. BN g A&l &l Yiaaied Hdl g |

i fau Y fasp el # 9 98 I9ged 3R &1 98 DIfoIT:

1[Option ID=8649]
2[Option ID=8650]
3[Option ID=8651]
4[Option ID=8652]

Sl. No.114
QBID:3201014

Mean of a data set is equivalent to:

1. First quartile of that data
2. Second quartile of that data
3. Third quartile of that data
4. Interquartile range of that data
1) 1
() 2
(3) 3
(4) 4

fobfl Up sfibST GH=a I A g H 9 fHdd A ¢ 2

1. 3 Aibsl BT YuH IqUdP

2. I i sl Bl gty aqdsd
3. I SHibsl DI Jdrg Tgdd

4. 3K 3| Pl oid: Jadd WY
1) 1

2) 2

(3) 3

(4) 4

1[Option ID=8653]
2[Option ID=8654]
3[Option ID=8655]
4[Option ID=8656]

Sl. No.115
QBID:3201015




Given below are two statements:

Statement I: Like correlation, statistical regression examines the association or relationship between variables.

Statement IT: The primary purpose of regression is prediction.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct.

Both Statement I and Statement I are incorrect.

Statement I is correct but Statement II is incorrect.
4. Statement I is incorrect but Statement II is correct.

11

(2) 2

(3) 3

4) 4

R sy E:

DY : Teusay &I Hifd, TIRSTDH I GHIYH0 =R1 & Higdd 3fUal 39 did & Ja¢i ol Sfid HIdl g |
DY 11 : GHIYYU DT YYD 3.2 TRl ¢ |

SWRIF] HYF & TP 1, A 6T U f[dheul § g1 IR B 999 DI

L. USRI CH T8l § |
2. FUHI ARSI TTAd § |
3. FFITel g, AP YT N TAd 6 |
4. HYTITAd 6, AP FUT N T8I © |

1) 1
(2) 2
3) 3
4) 4

2.
3

1[Option ID=8657]
2[Option ID=8658]
3[Option ID=8659]
4[Option ID=8660]

Sl. No.116
QBID:3201016

In governance, communication is normally used as a means of:

1. Gender division
2. Preserving power
3. Encouraging illegal actions
4. Alienating the masses
1) 1
(2 2
3) 3
(4) 4

QT A, SUN0T T TR IHRT 9 A 9 0 & gred & 9 | [ o g 2

1. fefaT fayTsH

2. Gl i &

3. 3{dY B B UdIigd HRAl
4. SFIdT DI f9HE B

1) 1
(2) 2
(3) 3
4) 4

1[Option ID=8661]
2[Option ID=8662]
3[Option ID=8663]
4[Option ID=8664]




Sl. No.117
QBID:3201017

A good part of communication in human society is through:

. Para language

. Infographics

. Formal language
4. Hidden emotions

)1

(2 2

(3) 3

(4) 4

ATd THS H UN0 &1 U6 591 o R A A fpa & AeaH Y gl g 2

1. TRTHTST
2. G - S (3Tt a)
3. AR HIST
4. =54 HIg
1) 1
() 2
3) 3
(4) 4

l
2
3

1[Option ID=8665]
2[Option ID=8666]
3[Option ID=8667]
4[Option ID=8668]

Sl. No.118
QBID:3201018

Which of the following elements involving social positions are determinants of communication from the eastern
perspectives?

A. Absence of leadership

B. Ego-centric individualism
C.Role

D. Status

E. Power

Choose the correct answer from the options given below:

1. A, Band Conly
2.B,Cand D only
3. A, CandE only
4.C,Dand E only

1) 1

) 2

3) 3

(4) 4




gdl Uy U HHISE Ual &1 Sl ardl dI 9 [FHifdd dad GUyur & [HuRe g 2

A. FIJcd BT 3(HIT

B. 31gH Bi-sd cafaarg

C. YA

D. gREd

E. i

i feu e fab el § 9 gl 3R &1 99 B :

1. $hdd A, B, C
2. ®dd B, C.D
3.%hdd A, C.E
4.%dd C,D.E

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=8669]
2[Option ID=8670]

3[Option ID=8671]
4[Option ID=8672]

Sl. No.119
QBID:3201019

Given below are two statements:

Statement I : The linear model of communication is used for generating intentional results.

Statement II : The linear model of communication was the basis of propaganda during the World War II.
In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true
2. Both Statement I and Statement IT are false
3. Statement I is true but Statement II is false

4. Statement I is false but Statement I is true
1) 1
(2 2
(3) 3
4) 4

A By RT T E:

HYF 1 : YUY b G A g BT UGN HfHd gl Febre & forg fbar srarg |
DY 11 : UV 1 3G Hisd fgcdid % gg b SR 3¢ U=R &1 SM1e/R o7 |
SWIdd HYF & 3clieb H, - fGT 7T fadbedl H Tl I &1 999 DI

L. HYFISRIIGH T § |

2. FUYA IR IISHI 3 EA g |

3. P19 ¢, dihd FUA I 3T © |
4. FUI 3 ¢, A FUA M IA © |

@ 1
) 2
(3) 3




4) 4

1[Option ID=8673]
2[Option ID=8674]
3[Option ID=8675]
4[Option ID=8676]

Sl. No.120
QBID:3201020

Given below are two statements:
Statement I : Coercive communication is ethical, powerful and result-oriented.

Statement II : In international power politics, unethical propagandist communication promotes national prestige
and security.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement II is true

11

() 2

(3) 3

4) 4

R F e
DY 1 : U GO0 Afd, Ferad 3R URUHIHE SidT ¢ |
DY 11 : SHRIPTY A1 W1 H e SifveRard! Gusor AP gicTsT 3k GRaf &1 §gral adi ¢ |

SR HUA & 3AHTelld H, Hid [T T [ edl T Hgl 3R 1 999 DifoI:

L. Y1 AR I aHI 9 &

2. YA AR I aHI 3 &

3. HYF 19 g, dich- P 11 3T &
4. FYF AL, AP P T TG

(1) 1
) 2
3) 3
(4) 4

1[Option ID=8677]
2[Option ID=8678]
3[Option ID=8679]
4[Option ID=8680]

Sl. No.121
QBID:3201021

Find the next term in the series given below:
oo Dy=155, 13,7

1. 18
2.20
3

o
-1

1) 1
(2) 2
3) 3
4) 4




1 €1 713 @l H ol g A1d DI

T8,~1,5,18,2

1.
pA
3

=
-1

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=8681]
2[Option ID=8682]

3[Option ID=8683]
4[Option ID=8684]

Sl. No.122
QBID:3201022

N men can complete a job in 12 days. The same job can be completed by (N+6) men in 8 days. Find the value of

) 4
N i 4l B 1 12 f&1 H g B Gobd g | I BRI Bl (N+6) Afderal gRT 8 el # uxT foban ot Hebdl
€ | N &1 HH J1d B -

1[Option ID=8685]
2[Option ID=8686]
3[Option ID=8687]
4[Option ID=8688]

Sl. No.123
QBID:3201023

A beggar has Rs. 15 comprising of 50 coins of 25 paisa and 50 paisa. How many 25 paisa and 50 paisa coins are
there with the beggar respectively?

1. 40, 10
. 30,20
. 35,15
.36, 14
11
(2) 2
3) 3
(4) 4

[N ]

=




U [HRaRT & g 25 T 3R 50 U9 & 50 ad! &1 {15 399 8 | 4R & 919 HH: 25 09 3R 50
T & [P s g -

1. 40, 10
2. 30,20
3.35,15
.36, 14
1) 1
) 2
(3) 3
4) 4

d=

1[Option ID=8689]
2[Option ID=8690]
3[Option ID=8691]
4[Option ID=8692]

Sl. No.124
QBID:3201024

If the price of sugar increases by 25%, determine the percentage by which its consumption be reduced so as not
to increase the expenditure on it?

1.2
3

S b

e
[9%]
L%, ]
o
=)

1) 1
) 2
(3) 3
(4) 4

e I+ &1 Hed 25% 9¢ SIdl 6, dl 3 IUHNT H fdbd- Uid=id &1 HH! &l o oy 39 IR oag H dfg A
BI?

1.25%
2.30%
3.20?

35%

e

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=8693]
2[Option ID=8694]

3[Option ID=8695]
4[Option ID=8696]

Sl. No.125
QBID:3201025

A lady while going to her college in a car drove 20 kms towards north and then 15 kms towards west. She then
turned to the south and covered 10 kms. Further she turned to the east and moved 12 kms. Finally she turned
right and drove 10 kms. How far and in which direction is the lady from her starting point ?

1. 5 km, South
2. 5 ki West
3. 3 km, West
4. 3 km, North

11

) 2

(3) 3

) 4




U Hiedl 30 dlas ofld G99 3R &1 3fR 20 [T 3R R 15 [HHI uley &1 IR HR 9ardl g | 9g [
afarn &t SR gadl € oIk 10 b B gl G DRl § | 3171 98 Yd St SR gol ¢ 3R 12 fhH Iadi g |
&%ﬁ:ﬂ;ﬂ%ﬁ?@?g@?ﬁ%aﬁ?mﬁﬁwaaﬁﬁ% | Afga og- 3R fo=g ¥ fabdil gr 3R fbg
fend g2

.5 fopHt, afémr
.5 fopdt, afgm
3 fopeit, ofem
3 fpdl, 3R

b b2 —

o

(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=8697]
2[Option ID=8698]

3[Option ID=8699]
4[Option ID=8700]

Sl. No.126
QBID:3201026

"Environmentalists are continually harping about the dangers of nuclear power. Unfortunately, electricity is
dangerous no matter where it comes from. Every vear hundreds of people are electrocuted by accident. Since
most of these accidents are caused by carelessness they could be avoided if people would just exercise greater
caution.” Which fallacy is committed in the above argument?

. Red Herring

. Slippery Sope

. Strawman

. Hasty Generalization
1) 1

2) 2

(3) 3

(4) 4

"UIaRUIS DG Ioil & WRl & IR H AR 910 PR e ¢ | gHaw, f[dggd War-s 5, dTg ug fadl
o} I U Bidl 81 | Tl oy Yol a7l [aggd 3e7d &l gaeAl & RIGR B € | 398 I ffUHhiz
gHeHU Sl & HRUI "I Gkl § . 31 g1l I AT ol Ydbdl g le ART AP G Sa- ol
SRIF HYTH DI - W db aI¥ g ?

1. 38 B _
2. e ea (ReTor i)
3. UY-Ye () db aly
4. SfG=RT AT DT
1) 1
) 2
3) 3
(4) 4

S R O R

1[Option ID=8701]
2[Option ID=8702]
3[Option ID=8703]
4[Option ID=8704]
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Which of the following statement is logically equivalent to "No birds are mammals"?

1. Some birds are not mammals.
2. Some non-birds are mammals.
3. No mammals are birds.
4. All non-birds are mammals.
11
(2 2




3) 3
4) 4

frafefad & 9 S1-91 o "I vall Tyl gl " 9 difdbs T A IAq B 2

1. $% Tl TR TRl E |
2. 59 TR-UE TR ¢ |
3. Plg WHYNI Uall T8l § |
4. 9 TR-U&H TURI G |
o 2
3) 3
(4) 4

1[Option ID=8705]
2[Option ID=8706]
3[Option ID=8707]
4[Option ID=8708]
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Which of the following is contrary to the statement "No mammals are birds"?

1. No birds are mammals.
2. Some mammals are birds.
3. All mammals are birds.
4. Some birds are mammals.
1) 1
(2 2
(3) 3
4) 4

"B1S TR velt e B e @ Fafafea 8 9 & faudia &

1. D3 Y&l SR 18T ¢ |
2. S WAYRIUefi § |
3. gyl WHURI Uef € |
4. D &I WY G |
1) 1
(2) 2
3) 3
(4) 4
1[Option ID=8709]
2[Option ID=8710]

3[Option ID=8711]
4[Option ID=8712]
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If the statement "Some animals are birds" is given as false then which of the following statements can be
immediately inferred to be false?

1. Some birds fly.
2. Some animals are not birds.
3. No animals are birds.
4. All animals are birds.
1) 1
) 2
(3) 3
4) 4




e HUH "He SIFa Uall 3" o & & H fear 71 g | dd FMafaRdd SH-91 $U- dicbiide 0 9 3y
& 0 H ST 631 S Gl 3§ 2

1. PO Uel 3sd ¢ |
2. g of-1aR Yajl -Tgi g |
3. Plg AR Y& 181 & |
4. 9t TR UER € |

> »

3) 3

4) 4

1[Option ID=8713]
2[Option ID=8714]
3[Option ID=8715]
4[Option ID=8716]
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Given below are two statements:
Statement I: According to Classical Indian School of logic (Nyaya) one can infer for oneself.

Statement II: According to Nyaya school inferring for oneself is a psychological process and does not require the
formal statement of the different members of a syllogism.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement II is correct
11
(2) 2
3) 3
4) 4

A el dy feu e g
DY I: db (1) B HRAIY ARA A b AR T b AT HY o AT foban ot debell ¢ |

DY 1T : I Hd & IR W & (e18 HF GH1 U BRI Uishal g 3R arad & (3 @Rull &
SHIHIND DY B ATIDdl T51 il g |

SWRId By & 3HTedld H, i< S U f[dw el # 963 Iugdd 3R &1 98- DI -

L. FUFIR A T8I E |
2 FYFA IR SH TAd § |
3. FY 1Tl g, AP ST N Tad § |
4. FUTITET G, APTHUT I Tl ¢ |

(1) 1
) 2
(3) 3
4) 4

1[Option ID=8717]
2[Option ID=8718]
3[Option ID=8719]
4[Option ID=8720]
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is a set of rules that must be obeyed when transferring files across the Internet.

Il T U GH= g [SPT 3e3-1¢ IR BIgd! & RIFRUN H HHardd: re fdar S =gy |

1. @A TAT
2. g 3R T
3. ug ¢l i
4. 35 Tg i

(1) 1
2) 2
(3) 3
(4) 4
1[Option ID=8721]
2[Option ID=8722]

3[Option ID=8723]
4[Option ID=8724]
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The action of sending emails to fraudulently obtain another person's bank details is called:

1. Phishing
2. Pharming
3. Spamming
4. Smishing

@1

2) 2

(3) 3

@) 4

fordl 3 i & db-Yafad fqarull & Hucyded Wt B g sHd Hol- B 1 1 Hgdldl ¢ ?

1. fopfRiT
 IHT
. ff
fefaim

b b2

=

1)1
(2) 2
(3) 3
(4) 4
1[Option ID=8725]
2[Option ID=8726]

3[Option ID=8727]
4[Option ID=8728]
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Which of the following are the advantages in using Solid State Drives (SSDs) rather than Hard Disk Drives
(HDDs) in Laptop computers?

A. SSD is much lighter than HDD.
B. SSD has a lower power consumption than HDD.
C. SSDs are thick compared to HDDs due to no moving parts.

Choose the correct answer from the options given below:

A and B only
. A and C only
B and C only
.A,Band C
1

) 2

(3) 3

(4) 4

oUeiy HrCR H §IS (S SI5d (HDDs) B {UET AIleTs T S13d (SSDs) & WIRT & (HHfciRad &1 -4
AHE 2

A. HDD®! 3{U&T SSD (¥ geohl glcll o |
B. HDD®! 3/U& SSD H & H [dggd @ud gidl ¢ |
C. HDDs &1 da-H SSDs HIct gldl & ilfd 3TH Ig T HIT 18] I S @ |

[

i f3U 1T fasedl # 9 968 Iugad IR &1 941 SHIfoy :

1. %dd A 3R B
2. Had AR C
3. PHdd B 3R C
4.A.B3IRC

1) 1

() 2

3) 3

4) 4

B R O

1[Option ID=8729]
2[Option ID=8730]
3[Option ID=8731]
4[Option ID=8732]
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Match List I with List IT

LIST I (Statement) e

(Value)
A [Base-10 (denarv) value of the binarv number: 100000 I 100
[nternet service provider advertises a download speed of
B. |80 megabits per second. What 1s the time taken in I |14

seconds to download an 80 megabyte file ?

A music file is 80 megabytes in size and MP3 file
compression reduces the size of a music file by 90%. m B2
" [The number of MP3 files of the size after compression ¢
that can be stored on an 800 MB CD

[What 1s the denary (base-10) equivalent to the v s
hexadecimal digit E? g

D.

Choose the correct answer from the options given below:

1. A-II, B-1V, C-I, D-1II

2. A-IIL B-1V. C-1, D-II

3. A-1, B-II. C-IV, D-1II

4. A-III, B-1, C-IV, D-II
(1) 1




) 2
3) 3
(4) 4

YT 1T el I 8 A Bifoe

=1 @FeE) eIl 1 (AT
A [fg3Te_l T8 - 100000 BT ST - 10 GRIERHAE | L {100
Sed-ie a1 UGl 80 5 92y 2 Ufd Udbs ol
B. B3-S fd HaIRd dXdl 6 | U 80 HTERe & | I |14
BISd @I SI3dals - Of da-l ¥Hg i |
T Hilid BIge SR | 80 TETEE @i & 3R
MP3 HIgd Upd Wid BI3d ®I 90% i BH &
C. &1 81 39 MR @1 fave) Ta f 3 rgell & m 52
P U s00 TH &1 @i Tig! & wofgd foar = gasa

€
% xgﬁ%Eﬁwmwm_mm@l i
Hid fau U fabedl § U Ual 3R &1 994 BT

1. A-II, B-IV, C-1, D-1II
2. A-IIL, B-1V, C-I, D-1I
3. A-1. B-II, C-IV, D-1II
4. A-1I1, B-1. C-IV, D-1I

11

(2) 2

(3) 3

(4) 4

1[Option ID=8733]

2[Option ID=8734]

3[Option ID=8735]
4[Option ID=8736]
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Give below are two statements:
Statement I : CDs and DVDs are described as magnetic storage devices.

Statement II : Laser printers are made up of a print head consisting of nozzles that sprays droplets of ink onto the
paper to form characters.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement IT is false.
4. Statement I is false but Statement II is true.

1) 1

(2) 2

(3) 3

4) 4




CIEEACRIC AR
DY 1 : Uil 3R SISt Traab g GYgUT gfkddl (SUDHRUIM) b $U H o[+ SI1d ¢ |

DY 11 : Ao Hex T 319 2 9 & gid € ST 3faRT & i gg 1T )R ®ig! B BT §al o1
fSSdId B dld Aeid gid ¢ |

SR YA & 3Tl H, AId [T T8 f[ddedi § 9 Yol 3R BI 9 DifofT -
1. HYTIMR I Td 3§ |

2. BYF IR I SHI 3¢ |
3. HYTI A ¢, dfhd PUT I 3T ¢ |
4. HYTI I g, AfbI FUT N IIE |
1) 1
(2) 2
3) 3
(4) 4

1[Option ID=8737]
2[Option ID=8738]
3[Option ID=8739]
4[Option ID=8740]
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Give below are two statements:

Statement I : The Montreal Protocol to protect the Earth's ozone layer is to date the only United Nations
environment agreement to be ratified by every country in the world.

Statement IT : Paris agreement establishes voluntary commitments by all parties to prepare, communicate and
maintain a Nationally Determined Contribution (NDC).

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement IT is false.

4. Statement I is false but Statement II is true.
1) 1
) 2
(3) 3
4) 4

BIERACAIE AU

DY : Jedl Bl S TR b TREUN D [o7T AfcTd UIcTdTd T DI Faiarvl Heeh Tgerd Y Pl
THHATA TR ¢ forgedl fay & Udd A g @1 g |

DY URE PR AP TR W MR TREH (TSR daR S, WUNT B 3R SREU I 6
it geif gRT WS dadGdIe WIftd dRdl g |

SWRIFd HYH & TP 1, A (3T U [dheul § Ggl 3R Bl 98- ot

L. FEIARIGHI TG |

2. FUFI RO G 3T G |

3. FYT 19 6, AP YT 3T © |
4. FUT1 A S, APA BT T T © |

(1) 1
(2) 2
(3) 3
4) 4




1[Option ID=8741]
2[Option ID=8742]
3[Option ID=8743]
4[Option ID=8744]
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Give below are two statements:

Statement I : Thermal pollution, usually effluent from cooling systems of power plants or other industries, alters
water temperature in a lake or stream.

Statement II : Humans also cause thermal pollution by altering vegetation cover and run-off patterns.
In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I 1s true but Statement II is false.
4. Statement I is false but Statement II is true.

11

(2) 2

(3) 3

4) 4

TR T RIS

DY 1 : QT f[dggd 43T 3ryar g Il &t u=iia- gonferdl I €fg:@rd, drdig ygyor it a1 oid
alg H Siel & g H YRadd $R adl g |

DY 1 : {1 Ul HIesTe SR Sd Ydlg! T ol uRdfdd B drdig Uguu ddi g |

JWRIKI HUT & 3AHTelld H. i [T U fdbedl § gl IR 1 999 DifoIe:

1. HYTIR IS TG |
2. BYAI R I SHI 3¢ |
3. HYTI A &, dfhd PUT I 3T ¢ |
4. FUTI NI . AP FYT I I © |
1) 1
(2) 2
3) 3
(4) 4

1[Option ID=8745]
2[Option ID=8746]
3[Option ID=8747]
4[Option ID=8748]
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Which of the following substances has the least Ozone Depleting Potential?

1. Chlorofluorocarbons
2. Hydro chlorofluorocarbons
3. Carbon tetrachloride
4. Halons
11
(2) 2
(3) 3
4) 4

frafaRad 7 9 feu gard B siwii /gary YHTed GAdH g 2

. SRR e
2. B SIFARITRIebTe
3, BIE CCIHARS S

4. 599




(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=8749]
2[Option ID=8750]

3[Option ID=8751]
4[Option ID=8752]
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Potential regions of geothermal sites are:

A. Circum pacific belt
B. Himalayan Region
C. Delta

D. Subduction zones
E. Rann of Kachchh

Choose the correct answer from the options given below:

1. A, Band C only
2. B, Cand D only
3. A, Band D only
4. A, D and E only

1)1
(2) 2
(3) 3
4) 4

YT ®ell & G 8 §

A. GR-URIT &7 (IRPHH Ul dev)
B. fedTedl &

C. Sl

D. e (Gas) &4

E. &3 TII0]

i fu T fasm el & 9 get 3R &1 99 Hifou :

1[Option ID=8753]
2[Option ID=8754]
3[Option ID=8755]
4[Option ID=8756]
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International Solar Alliance (ISA) has its head quarter in:

1. United States
2. Switzerland
3. India
4. France

11

(2 2

(3) 3




4) 4

SIRIPT YR WY (MEUH) 1 geay Fafafad 8 3 sl R e -

1. Y I A DI
2. RgesRds
3. HRd
4.1

1) 1

2) 2

(3) 3

(4) 4

1[Option ID=8757]
2[Option ID=8758]
3[Option ID=8759]
4[Option ID=8760]
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National Council for Vocational Education and Training (NCVET), an overarching skills regulator, was notified
in the year:

1.2018
. 2015
. 1956
. 1961
1) 1
(2) 2
3) 3
(4) 4

gaﬂ?{amiq IR [T, AP HrawTiye fRia gd uiiam uRyg (Geidisch) fog ay siergf=a
ot 2

[T ]

d=

1. 2018
2.2015
3. 1956
. 1961
(1) 1
) 2
(3) 3
(4) 4

=

1[Option ID=8761]
2[Option ID=8762]
3[Option ID=8763]
4[Option ID=8764]
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Which of the following are the ancient Indian texts on Astronomy?

A. Sankhyakarika

B. Siddhanta Siromani
C. Surja Siddhanta

D. Grihya Satras

Choose the most appropriate answer from the options given below:

. A, Band C only
B and C only
.A,B,CandD

. A, BandD only
1

() 2

(3) 3

S B O




4) 4

fFfRad § 9 @ e - 99 R YA URAM Y A § 2

A. IRHING
B. Rigid RREf
C. Yol fgid
DRIEE!

i faU U [dspedl # 9 9ad Iugdd 3R &1 98 Bifoid:

1. $FTA A, B AR C
2. $AdAB 3R C
3.A.B.C3RD
4. Hdd A, B3R D

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=8765]
2[Option ID=8766]
3[Option ID=8767]
4[Option ID=8768]
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Which of the following are the characteristics of conventional learning?

A. Cost-effective

B. Teacher-centered learning
C. Learner oriented

D. Prescribed curriculum

E. Require regular attendance.

Choose the correct answer from the options given below:

C,D and E only
B. D and E only
.A. D and E only
4. A, BandD only
1
) 2
(3) 3
(4) 4

fFrafeRad # 9 URuRe® /e &1 [a=Ivarg 1 €t g 2

A. RT-UHTd

B. [R1&/@ - Pl affermm
C. MGl - IHE

D. iR greT==t

E. fFrafiya SulRufa srasas

i feu 71t fawedl § 9 el IR &1 99 Hifolu ;

1.$ad C, D 3R E
2. $dd B, D 3R E
3. $dd A, D 3RE
4. Hdd A B3R D

@ 1

I:
2.
3




(2) 2
3) 3
(4) 4
1[Option ID=8769]
2[Option ID=8770]

3[Option ID=8771]
4[Option ID=8772]
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Higher order thinking skills can be promoted through:

1. Rote learning
2. Active learning
3. Passive learning

4. Tutorials
11
(2 2
(3) 3
4) 4

3= A Hda o1d @ Hufafad 3 9 fead gr uiafed fear st gsdr g 2

. iehg- 3R
fAfspa siferm

L S

=

(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=8773]
2[Option ID=8774]

3[Option ID=8775]
4[Option ID=8776]
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Who among the following was the Governor-General and the Viceroy who passed the acts of incorporation in
January 1857, which provided for the establishment of universities at Calcutta, Bombay and Madras?

1. Lord Curzon

2. Lord Dalhousie
3. Lord Lansdowne
. Lord Canning
1) 1

() 2

(3) 3

4) 4

FafafRad 7 9 98 TR SR 3R IR S U7 o= SRt 1857 H TH19RE o7 ifafaa uid faar,
ST hefehl, sivel 3R I H fayfaerierai &1 RITUHT T AN YRR g3l 2

1. TS PHo
2. dTS Sdgholt
3. dlS dusIa
4. 9IS AT

@ 2

3) 3

) 4

B

1[Option ID=8777]
2[Option ID=8778]
3[Option ID=8779]
4[Option ID=8780]
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Read the following passage and answer the questions.

The progress of salt march can also be traced from another source: The American news magazine Time. This, to
begin with, wrote with disdain of Gandhi's "Spindly frame" and his "spidery loins". In its first report, Time was
deeply skeptical of the marchers reaching their destination. It claimed that Gandhi "sank to the ground" at the end
of the second day's walking; the magazine did not believe that "the emaciated saint would be physically able to
much further". Within a week, it had changed its mind. The massive popular following that the march had
gathered, wrote Time, had made the British rulers "desperately anxious". Gandhi himself they now saluted as a
"saint" and a "statesman who was using "Christian acts as a weapon against men with Christian beliefs". The salt
march was notable for at least three reasons. First, it brought Gandhi to world attention, with the march being
widely covered by the European and American press. Second, it was the first nationalist activity in which women
participated in large numbers. The socialist Kamaladevi Chattopadhyay had persuaded Gandhi not to restrict the
protests to men alone. Kamaladevi was herself one of numerous women who courted arrest by breaking the salt
or liquor laws. Third, and perhaps. the most significant, if was the salt march that forced upon the British the
realization that their raj may not last for ever and that they would have to devolve some powers to Indians.

fgfarad ey ®1 gfeu 3R U8 $T IR gifoig

TS Sfiala DI WId I Th 30 Fid U 1 GIol 51 96hdl § : AP YHER @ o5 | RY H g
g (R RYd® el & “gad uad e 3R “Hbho! ol HHR" & dR | feradi ¢ | Y- ggal Ruie 7,
CTsH TGSl & U Tided db Ugd U i diebR Sieieh G 41 | 39 a1l fobar fab gaR fa &b
YA FHITG & A TTiel <o OR FR 1, et b1 fayr =18 o1 fob <RI Hd SR 1l der H
YRIRS ¥4 T GH g Uh Itdlg & R g1, 39 39+ Ui gad <l | ersH A foran fab siigia A foraq
&S UHF TR B STHl U fhd 399 fadrt Urs “FRmimse U 9 fHfdd g1 d | sd d il
DI TP U el 3R IS & B H A HR A1 ol <3975 M7 dld ARl & [deg 3975 39| &l Uh
SIUUR & T4 H SIIHIA DI QT UM | THD SHiGId- HH I HH diF BRUN J Jedd-1a AT | YYH g8 g
WR DI M il B AR Wi, GG SR HERIB! GHER HIH A 39 ATd 6] g9 UHH TR Har b |
G, Ig gl Ayardi idfate ot fores Afgema 5 Wkl e | v forr | gHrSardl eHeredl g |
il @l gHgd B o A1 fab 9 {1y &) A goui dob Hifed 139 | dadGd! ¥y 34 34 Afgarsii # d
U i [T 1H TH® a1 B S BT Iea e B TREIRI &l | G 3R 21e gdiieis Agayqul, a8 06
3fieia gl U1 [ Yl B1 U8 UgH &R UR HolaR (bl fds 3TehT ol QARG gHRI A1 ¥g 3R U8 b 3¢
Hidud fekTd] BT HRIE] Bl URTHA HRAT B |

What was the initial response of western press to Ghandhiji's salt march ?

1. Skeptical
2. Appreciative
3. Deceptive
4. Neutral
1
(2 2
3) 3
4) 4

TSl & 9 3figia- & Ulid gl U9 &I 3RS uididsar o of 2

1. e
2. YRl 5D
3. YHD
4. fRge
1) 1
(2) 2
3) 3
4) 4
1[Option ID=8781]
2[Option ID=8782]

3[Option ID=8783]
4[Option ID=8784]
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Read the following passage and answer the questions.

The progress of salt march can also be traced from another source: The American news magazine Time. This, to
begin with, wrote with disdain of Gandhi's "Spindly frame" and his "spidery loins". In its first report, Time was
deeply skeptical of the marchers reaching their destination. It claimed that Gandhi "sank to the ground" at the end
of the second day's walking; the magazine did not believe that "the emaciated saint would be physically able to
much further". Within a week, it had changed its mind. The massive popular following that the march had
gathered, wrote Time, had made the British rulers "desperately anxious". Gandhi himself they now saluted as a
"saint" and a "statesman who was using "Christian acts as a weapon against men with Christian beliefs". The salt
march was notable for at least three reasons. First, it brought Gandhi to world attention, with the march being
widely covered by the European and American press. Second. it was the first nationalist activity in which women
participated in large numbers. The socialist Kamaladevi Chattopadhyay had persuaded Gandhi not to restrict the
protests to men alone. Kamaladevi was herself one of numerous women who courted arrest by breaking the salt
or liquor laws. Third, and perhaps. the most significant, it was the salt march that forced upon the British the
realization that their raj may not last for ever and that they would have to devolve some powers to Indians.

frgfafad Teiw &1 ufeu 3R us &1 3w SIS

TP SHaIA DI WA Bl TP 3 Fid g H FIST S Ghdl ¢ : RIS GHER YIS —<Bd | IRY A gl
g [(REPRYde el P “gad udd ¢ 3R “Hebo! Gidl HA" & IR | ferddi g | g+ ggal Ruid #,
CTsH SHGIThIRAT & 30 Tided deb Ygd UM Dl deb ffeie Jt AT | 39+ ardl b fob g o i
AT GHITGE & A TTiel <o 0 FR 1, et bl fayr 181 o1 fob <RI dd SR S <ot J
YRIR® 9 4 9 g1 U Ui & HiaR 1, 39 30+ 9Id dad df | <iad - ferdl fdb sfigriad = fora-
a5 UM R A SFTH! U fhd 399 o s “FRimse w9 9 fHfad g1 g | 81d 4 i
DI UH U Tl 3R RASHAT & T H A HR- A1 Sl <375 AT aldd ANl & [deg 38Ts 39T &l Uh
BIUUR & TU H ZIAHI DR IQT AT | THD SHiGIa- HH I HH diF BRUN T Ieid-1a AT | U4H 38 g
WR DI & Tl B AR Wi, GG SR RIS GHER J1H A 39 A" &) 99 UHH IR SaR [ |
IR, ¥g Ued! ryardi mfdfafe ot forad Afgemait 3 4t Twan # i feran | gATSIaTd] ! Tgiaream |
el BT FHgd B foran AT fob d faviy &1 A1 goul do TifAd 1 3E | SHAGA! 3[g 31 31 Afgareii § 4
U i o1l A S{Udl Hel B bl Iewe= B TREIRT S | IR SR 2re g Agayul, a8 946
Sficie gl U1 forg Yol 1 I8 UgH™ &R+ IR HolaR [l fb 31 IS RIS gHRIN A I3 3R I8 fb 3¢
S QfekTd] BT HRIAT Bl URTHA HAT B |

How did Time magazine describe Gandhi's salt march in its first report ?

1. People would reject the march.
2. He would not be able to complete it.
3. The British supported the march.
4. Gandhiji had the physical strength to lead the march.
1) 1
(2 2
3) 3
(4) 4

TT3H Ul A 3O uyH Raid J el & 9606 Hiciad 1 b4 gui fdar 2

1. ST 3fgie i 3RAIHR DR &l |

2.9 39 QX ol X UId] |

3. Ul A 3faia &1 gHH o |

4 TSl H 7 @) 1 Add S B ARG i o |

1) 1
(2) 2
3) 3
4) 4

1[Option ID=8785]
2[Option ID=8786]
3[Option ID=8787]
4[Option ID=8788]
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Read the following passage and answer the questions.

The progress of salt march can also be traced from another source: The American news magazine Time. This, to
begin with, wrote with disdain of Gandhi's "Spindly frame" and his "spidery loins". In its first report, Time was
deeply skeptical of the marchers reaching their destination. It claimed that Gandhi "sank to the ground" at the end
of the second day's walking; the magazine did not believe that "the emaciated saint would be physically able to
much further". Within a week, it had changed its mind. The massive popular following that the march had
gathered, wrote Time, had made the British rulers "desperately anxious". Gandhi himself they now saluted as a
"saint" and a "statesman who was using "Christian acts as a weapon against men with Christian beliefs". The salt
march was notable for at least three reasons. First, it brought Gandhi to world attention, with the march being
widely covered by the European and American press. Second. it was the first nationalist activity in which women
participated in large numbers. The socialist Kamaladevi Chattopadhyay had persuaded Gandhi not to restrict the
protests to men alone. Kamaladevi was herself one of numerous women who courted arrest by breaking the salt
or liquor laws. Third, and perhaps. the most significant, it was the salt march that forced upon the British the
realization that their raj may not last for ever and that they would have to devolve some powers to Indians.

frafafad Teiw &1 ufdu 3R us &1 3w SIS

TS 3HicIa D WIfd I Th 31 Fid J 1 GIol 571 9ahdi ¢ : P! YHER e —osd | 3RY J g
g [(REPRYdD el P “gad Udd ¢ 3R “Hb ol Bidl HAR" & IR | ferddi § | 39-11 ggal Ruid #,
CTsH SHGIThIRAT & 30 Tided deb Ygd UM Dl deb ffeie Jt AT | 39+ ardl b fob g o i
AT GHITGE & A TMielt <o IR FR 1, a1 b1 fayr 18 o1 fob <RI Hd SR S def- J
YRIRS ¥4 T GH gHTT [~ Uh Utlg & R g1, 39 39+ Ui dad 2l | esH A foral fb siigia A foraq
a5 UM R A SFTH! U fhd 399 o s “FRimse w9 9 fHfad g1 g | 81d 4 i
DI UPH U “Hd 3R O & B H A B A1 Sl <5975 AT ald ARl & [deg 3975 39| &l Uh
BIUUR & TU H ZIAHI DR IQT AT | THD SHiGIa- HH I HH diF BRUN T Ieid-1a AT | U4H 38 g
W DI e Tl B AR Wi, GG SR RIS GHER HIH A 39 A" 61 99 UHH IR dar b |
IR, ¥g Ugd! ryardi mfdfafe ot forad Afgemait = 4Rt Twar # i ferar | gATSIaTd! el Tgiaream |
el BT FHgd B foran AT fob d faviy &1 A1 goul do TifAd 1 3E | SHAGA! 3[g 31 31 Afgareii § 4
U i Sl THS S{udl 7 B bl Iewie- B FREIRT 2 | FIRR SR Qe g Agayul, g8 166
Sficie gl U1 forg 3iUoll 1 g8 UgH™ &R+ IR HolaR [l fb 31 IS RIS gHRIN A I3 3R I8 fb I
S QfkTd] BT HRIAT BT URTHA HAT B |

What was the first effect of the salt March ?

1. People were confused.
2. Gandhi's followers were reluctant.
3. Gandhi was able to garner world attention
4. Gandhiji's faith in Christianity got reinforced.
1) 1
(2 2
3) 3
(4) 4

THD 3GIcr DT Ugell UHTT 1 YT 2

ICERIRIERRIN

2. Tl & St SifAg D o |

3. 17efl T T AT S td B Ul o |
4. 5915 o H TS B ST Uad gl Tl |

1) 1
(2) 2
3) 3
(4) 4

1[Option ID=8789]
2[Option ID=8790]
3[Option ID=8791]
4[Option ID=8792]
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Read the following passage and answer the questions.

The progress of salt march can also be traced from another source: The American news magazine Time. This, to
begin with, wrote with disdain of Gandhi's "Spindly frame" and his "spidery loins". In its first report, Time was
deeply skeptical of the marchers reaching their destination. It claimed that Gandhi "sank to the ground" at the end
of the second day's walking; the magazine did not believe that "the emaciated saint would be physically able to
much further". Within a week, it had changed its mind. The massive popular following that the march had
gathered, wrote Time, had made the British rulers "desperately anxious". Gandhi himself they now saluted as a
"saint" and a "statesman who was using "Christian acts as a weapon against men with Christian beliefs". The salt
march was notable for at least three reasons. First, it brought Gandhi to world attention, with the march being
widely covered by the European and American press. Second. it was the first nationalist activity in which women
participated in large numbers. The socialist Kamaladevi Chattopadhyay had persuaded Gandhi not to restrict the
protests to men alone. Kamaladevi was herself one of numerous women who courted arrest by breaking the salt
or liquor laws. Third, and perhaps. the most significant, it was the salt march that forced upon the British the
realization that their raj may not last for ever and that they would have to devolve some powers to Indians.

frafafad Teiw &1 ufdu 3R us &1 3w SIS

TS 3HicIa D WIfd I Th 31 Fid J 1 GIol 571 9ahdi ¢ : P! YHER e —osd | 3RY J g
g [(REPRYdD el P “gad Udd ¢ 3R “Hb ol Bidl HAR" & IR | ferddi § | 39-11 ggal Ruid #,
CTsH SHGIThIRAT & 30 Tided deb Ygd UM Dl deb ffeie Jt AT | 39+ ardl b fob g o i
AT GHITGE & A TMielt <o IR FR 1, a1 b1 fayr 18 o1 fob <RI Hd SR S def- J
YRIRS ¥4 T GH gHTT [~ Uh Utlg & R g1, 39 39+ Ui dad 2l | esH A foral fb siigia A foraq
a5 UM R A SFTH! U fhd 399 o s “FRimse w9 9 fHfad g1 g | 81d 4 i
DI UPH U “Hd 3R O & B H A B A1 Sl <5975 AT ald ARl & [deg 3975 39| &l Uh
BIUUR & TU H ZIAHI DR IQT AT | THD SHiGIa- HH I HH diF BRUN T Ieid-1a AT | U4H 38 g
W DI e Tl B AR Wi, GG SR RIS GHER HIH A 39 A" 61 99 UHH IR dar b |
IR, ¥g Ugd! ryardi mfdfafe ot forad Afgemait = 4Rt Twar # i ferar | gATSIaTd! el Tgiaream |
el BT FHgd B foran AT fob d faviy &1 A1 goul do TifAd 1 3E | SHAGA! 3[g 31 31 Afgareii § 4
U i Sl THS S{udl 7 B bl Iewie- B FREIRT 2 | FIRR SR Qe g Agayul, g8 166
Sficie gl U1 forg 3iUoll 1 g8 UgH™ &R+ IR HolaR [l fb 31 IS RIS gHRIN A I3 3R I8 fb I
S QfkTd] BT HRIAT BT URTHA HAT B |

The salt march was the first nationalist movement to attract/incur

1. The attention of American press
2. comments by the European press
3. The wrath of the British Government
4. A large number of women participants
1) 1
2 2
3) 3
4) 4

TS 3ficier TuT Yy Ayardl siicle o fore Fafefad o srafdd faar |

1. 3{HRID! U &1 e
2. QY Ug & fewfopi
3. [9dMl TRBR H1 HIY
4. Gigdr ufauiiEl &1 YRt g
1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=8793]
2[Option ID=8794]
3[Option ID=8795]
4[Option ID=8796]
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Read the following passage and answer the questions.

The progress of salt march can also be traced from another source: The American news magazine Time. This, to
begin with, wrote with disdain of Gandhi's "Spindly frame" and his "spidery loins". In its first report, Time was
deeply skeptical of the marchers reaching their destination. It claimed that Gandhi "sank to the ground" at the end
of the second day's walking; the magazine did not believe that "the emaciated saint would be physically able to
much further". Within a week, it had changed its mind. The massive popular following that the march had
gathered, wrote Time, had made the British rulers "desperately anxious". Gandhi himself they now saluted as a
"saint" and a "statesman who was using "Christian acts as a weapon against men with Christian beliefs". The salt
march was notable for at least three reasons. First, it brought Gandhi to world attention, with the march being
widely covered by the European and American press. Second. it was the first nationalist activity in which women
participated in large numbers. The socialist Kamaladevi Chattopadhyay had persuaded Gandhi not to restrict the
protests to men alone. Kamaladevi was herself one of numerous women who courted arrest by breaking the salt
or liquor laws. Third, and perhaps. the most significant, it was the salt march that forced upon the British the
realization that their raj may not last for ever and that they would have to devolve some powers to Indians.

frgfafad Teiw &1 ufeu 3R us &1 3w SIS

TP SHaIA DI WA Bl TP 3 Fid g H FIST S Ghdl ¢ : RIS GHER YIS —<Bd | IRY A gl
g [(REPRYde el P “gad udd ¢ 3R “Hebo! Gidl HA" & IR | ferddi g | g+ ggal Ruid #,
CTsH SHGIThIRAT & 30 Tided deb Ygd UM Dl deb ffeie Jt AT | 39+ ardl b fob g o i
AT GHITGE & A TTiel <o 0 FR 1, et bl fayr 181 o1 fob <RI dd SR S <ot J
YRIR® 9 4 9 g1 U Ui & HiaR 1, 39 30+ 9Id dad df | <iad - ferdl fdb sfigriad = fora-
a5 UM R A SFTH! U fhd 399 o s “FRimse w9 9 fHfad g1 g | 81d 4 i
DI UH U Tl 3R RASHAT & T H A HR- A1 Sl <375 AT aldd ANl & [deg 38Ts 39T &l Uh
BIUUR & TU H ZIAHI DR IQT AT | THD SHiGIa- HH I HH diF BRUN T Ieid-1a AT | U4H 38 g
WR DI & Tl B AR Wi, GG SR RIS GHER J1H A 39 A" &) 99 UHH IR SaR [ |
IR, ¥g Ued! ryardi mfdfafe ot forad Afgemait 3 4t Twan # i feran | gATSIaTd] ! Tgiaream |
el BT FHgd B foran AT fob d faviy &1 A1 goul do TifAd 1 3E | SHAGA! 3[g 31 31 Afgareii § 4
U i o1l A S{Udl Hel B bl Iewe= B TREIRT S | IR SR 2re g Agayul, a8 946
Sficie gl U1 forg Yol 1 I8 UgH™ &R+ IR HolaR [l fb 31 IS RIS gHRIN A I3 3R I8 fb 3¢
S QfekTd] BT HRIAT Bl URTHA HAT B |

According to the passage, the most significant outcome of the salt march was that

1. The British were able to nullify the effects of the movement.
2. Gandhiji could not achieve his aim of breaking the salt law.
3. The British realized the need for devolution of power with Indians.

4. The salt march ended as a mere local movement of tokenism.
11
(2 2
(3) 3
4) 4

TSR B HJHR, THD Sl Pl Hdiitied Hgdqul IR 5 # & &1 o1 2

1. 39 3ficield & gHTal b syt e urd o |

2. TSl THS B & Ieaiy= & 30 ded Dl UItd =gl B dTg |

3. SIS Bl YRG! & TIY KTl b IRTHA DI S1aGhdl DI TEHN™ gorT |
4. THSD SHicTd- U -TH HE & R gl & U H GHI gal

(1) 1
) 2
(3) 3
(4) 4

1[Option ID=8797]
2[Option ID=8798]
3[Option ID=8799]
4[Option ID=8800]




